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Test 1

You have 10 minutes to do this test. Work as quickly and accurately as yoy can.

Four friends share £1044 equally.

How much does each friend get? )
L [
]

There are five people in a group and they each own the same number of Marb|e
Circle the option below that could show the total number of marbles they o S.

A 458 G376 E 412
B 951 D 295

Rob’s score on a new video game is shown below.

scoge. 346 581

What is the value of the 6 in his score? Circle the correct option below.

A 6 C 6000 E 60000
B 60 D 600

The pie below is being eaten by five people. The angle of each slice is shown.

What is the angle of Ali’s slice? m’

2 © CGP — not to be photoce




5. In a bag of tropical fruit mix,

18, -
B /25 1s made up of carbohydrates.
What IS thiS 4as a perCentage? p

The chart below shows the expected daily rainfall (in mm) in july
for several UK holiday destinations.

25'_\ZO'
==
o 15
S E
gﬁ 10
f o=t
ZE s
0

6. How much more rain is expected to fall each day in Topestoft than in Oldharbour?

Give your answer in centimetres.
-

7. How much more rain is expected to fall in Aberling than in Winderwater

during the whole month of July?
LT e

8. Sammy is facing West. He turns 225° in an anticlockwise direction.
Which direction is he now facing? Circle the correct answer.

A North East
South West
East

South East
North West

moo®

© CGP — not to be photocopied 3 Test 1



9. It takes Haruko 37, hours to cycle to his uncle’s house.
L.,
URQS

How many minutes is this?
10. Bina ate '/, of a pizza. Sean ate twice as much of the pizza as Bina,
Rebeka then had half as much of the pizza as Bina.
What fraction of the pizza is left? Circle the correct answer.
AL C 3 E '
B '/ D /s

11. Three corners of a square have coordinates (3, 2), (1, 5) and (4, 7).
Some treasure is buried at the fourth corner

v Ok
of the square. Where is the treasure buried? 7 L T
Circle the correct answer. 6 T
I
A (7,5 5 | B
||
B (2,6) 4 I
C (6,2 3 SRECENT
D (6,4) 2 s LT
1 N
- e |
O 1 2 3 4r Gﬂ?\?
12. The number of bugs living in a colony increases each day.
To find the number of bugs in the colony each day, multiply ' ®
the number of bugs on the previous day by 2, and then add 1.
Circle the number that cannot show a possible number of bugs o %
in the colony after 10 days.
A 12 286 C 9215 E 16 383
B 6143 D 3071

Test 1 4 © CGP — not to be photocopﬁ



You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. Richard takes a trip across America. On his journey the coldest temperature
he records is =32 °C. The hottest temperature he records is 41°C.

What is the difference between these two temperatures?
[ e

Asuka’s garden is in the shape of a parallelogram, as shown.

o 6m

B
€

4 m 3m

2. What is the perimeter of Asuka’s garden?

MR

3. What is the area of the garden? Circle the correct option.

A 20m? C 18m’ Eil 19 m#
B 24 m? D 8m’

4. The total time for a swimming relay team is found by adding together
the times of its four individual swimmers.
The four swimmers in a team take 38 seconds, 46 seconds, 52 seconds
and 50 seconds. What was the team’s total time?

minutes (—D seconds

© CGP — not to be photocopied 5 Test 2



b

5.  Ben cycles 39.48 miles. . imate distance in kilomet,
) : the approx €s
If 5 miles = 8 kilometres, what is pﬁgn below.

that Ben cycled? Circle the correct o i
A 25 km C 56km
B 72km D 40km

6. Una goes to the bank for a Ioa(?.then another 3 weeks till the loan is paid.

It takes 31 days to approve an and pay the loan?

What is the total time needed to approve
Give your answer in weeks and days.
weeks D
ay

All the students in a school picked their favourite computer game.
The results are shown in this pictogram.

Game Number of students
Shoot Bang Shoot QOG

Fly Fly Fly QOO
Wizards and Demons | & © © ¢

Game of Films ©O(

© = 4 students

7. How many students are in the school altogether? Circle the correct option.
A 28 C 56 E 4
B 7 D 14

8. A third of the students who chose Fly Fly Fly as their favourite game are boys.
How many boys chose Fly Fly Fly as their favourite game?

Test 2 6 © CGP — not to be photocopie



. .37 pm.
9. Nicolao KNOWs the next train to Neartown leaves at 9:37 P mat.

What time does the train arrive? Give your answer in 2 : m

of 3 parts.
10. Adjo has 4 o

Adjo has tak
and '/, of th

. ; - s made Up
€rtain amount of time to finish a test, which i

en '/; of the total time to do Part 1,
€ total time to do Part 2.

: ?
V\./hat fraction of the total time does he have left for Part 3¢
Circle the correct answer.
A 5/6 C 5/12 E 7/12
B 3/12 D 5/24
Ly T th 3 cm.
1T." Michael builds the object below out of toy cubes with sides of leng
3 cm
What is the volume of the object?
12.

: i f each
A shop sells picture frames in different sizes. The height (4) and width (w) of ea

frame are linked by the formula 4 = 1.5 + 12.
L Jer

What is the width of a frame that is 27 cm high?
/12

Test 2
© CGP — not to be photocopied 7



You have 10 minutes to do this

Test 3

t. Work as quickly and accurately as you .
test.

an_

h into a glass and adds 0.5 litres
h drink? Circle the correct answer Water

E 850 millilitres

- - S
Caroline pours 35 millilitres of frux-ttssqllllaas
What is the total volume of her fruit lq
itres
A 0.535 litres C 535 11 o
B 0.85 litres D 0.535 millilitr

2
. : of 1T m=.
it takes 2 boxes of tiles to cover an ared

12 m
- =

How many boxes of tiles would be needed to cover the wall above?
Circle the correct answer.

A 60 C 30 E 100

B 34 D 120

An antiques dealer buys two clocks on the same day
She paid £34.50 for one clock and £51 for the other.
How much change did she receive from £100?

from the same shop.
A recipe uses 240 g of flour to make a cake fi

or 6 people.
How much flour would be needed to make

. a cake for 10 peo le?
Circle the correct answer below. 5P

A Al C 360g

E 120 g
B 4kg D 400g

© €GP — not to be photacani
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5. ADVD is for sale at different prices in five different stores.
The prices are £10, £11, £13, £10 and £11 50.

What is the mean price? EEDED

6. Sam has 60 coloured pencils. The fraction of Sam’s pencils that are red is "/12-

How many of Sam’s pencils are not red? [ﬂj

The timetable for a train service between Newcastle and London is shown below.

Newcastle 07:14 10:22 14:38 17:52
York 09:25 12:33 16:49 20:03
Doncaster 10:23 13:31 17:47 21:01
Peterborough | 12:31 1539 19:55 2313
London 14:09 WCAT 21:33 00:51

7. How long does it take the train leaving Newcastle at 10:22 to get to London?
(1 Jhours[ 1 Jminuees

8. Alf needs to travel from York to Peterborough and must arrive before 7:30 pm.
It takes him 42 minutes to walk from his house to York station.

If Alf wants to leave his house as late as possible, when should he set off?
Circle the correct option.

A 11:51 am C 8:43 am E 6:07 pm
B 8:21 pm D 4:07 pm
© CGP — not to be photocopied 9
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10.

B 7

[ 55

Test 3

A gardener converts temperatures beMgen degreei; C;t?ilélnu-; (i) 2a(nc: X
degrees Fahrenheit (f) using the following approx g o
The temperature today is 18 °C. Find the approxime p e in o

A farmer piles his containers of winter cow food in triangular stacks,

The stacks form a pattern of triangles which increabsel in size.
The first three stacks the farmer makes are shown below.

]

1st ck 2nd stack 3rd stqck
(1 container) (3 containers) (6 containers)

How many containers will be in the 8th stack?

The net of a cube is drawn on the piece of card shown below.

6 cm

What is the volume of the cube?
@cm3

Paul has forgotten his aunt’s house number, but he knows:
e it has 2 digits

* it starts with 9

® itis a prime number

What is his aunt’s house number?

10 © CGP — not to be phota



Time for a break! These puzzles are a great way to practise your maths skills.

o

A Night on the Tiles

One evening Sam and Anya are playing a game involving letter tiles.
e Each letter is worth a different whole number of points.
e The score for a word is the sum of the scores for the letters in that word.

| e The scores on the tiles are hidden, but Sam has an old scoresheet
| showing the scores for a few different words. —— [ S

e Use the scoresheet to find the value of each letter. Tig"_’e‘sheez‘ /
Then find the scores for the following words. Top _ - P’;’?’;ZS
» [P(QIS(E [
B i s
o (R L{Q[ T[S L b
o [8/r]alQ/L]s)

Breaklnq Up is Hard To bo

I've got a chocolate bar made up of
20 individual chunks, as shown on the right.
I want to break it into 20 separate chunks.

e | can break a maximum of two ‘stacked’
pieces of chocolate at the same time.

e What's the smallest number of separate ‘breaks’ | will need to do?

CGP — not to be photocopied 11 Puzzles 1



You have 10 minutes to do this test. Work as quickly and accurately ag You .

dn,

1. A new red carpet is needed for a film premiere.
The carpet needs to be 12.35 m long.
How long must the carpet be in millimetres?

My

N}

Emily has a new bike. She needs to adjust it so that when the pedj] ;

S at jtg
lowest point (as shown below), her knee makes an angle of x.

Circle the best estimate of x from the options below.
A 70° C 140° E 210°
B 90° D 170°

3. An asteroid travels 22 586 km every hour.
Round this distance to the nearest thousand kilometres.

L0

4. Arno buys 5 rolls of wallpaper to decorate his kitchen.
While decorating, he uses 37/ rolls.

How many rolls of wallpaper does Arno have left? Circle the correct
A 18 N E BL
B ' D

danswer,

‘o

Test 4 12 © CGP — not to be photocopied






120 people were asked how many sisters they have.
The results are shown in the pie chart below.

9. How many people have 1 sister?

10. 35 people have no sisters. The segment with 2 Sllst;frs észt};?sf:rmehﬂze as the
segment with no sisters. How many more people hav Sthan 3 Sistar,
Circle the answer below, '

A 35 C 15 E 105
B 25 D 5

The price (in pounds) charged by a designer for each job they carry oyt is 505 2
where / is the number of hours taken.

1. What would the price be for a job that takes 30 hours?

12, A customer is charged £1025.

How many hours did the designer take to do that job?
L e

Test 4 14 © CGP — not to be photocopied
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You have 10 minutes to do this test.

Work as quickly and accurately as you can.

A triangle has two sides of len

: sth 3.8 : : :
Find the length of its third sid . €m and 7.4 cm, and a perimeter of 18 cm.

" (T en

The mile counter on a car is shown below.

808a

Round the distance shown to the nearest 1 000 miles.

l ‘ l l ! I lmiles

for a newspaper story is shown below.

The headline

Nearly 2 out of every 3 people have

been on a foreign holiday this year |

The exact percentage of people who had been on a foreign holiday
this year is given in the story.

Circle the percentage below that best matches the headline.
A 33% C 64% E 73%
B 49% D 67%

A side view of a skateboard ramp is shown below.

X
5 42°

What is the size of angle X?

L)

Test 5
© CGP — not to be photocopied 15 st 2




6.

Test 5

_— ams of flour,
Caley is making 7 cakes. Each cake requires é-Sks.{;:;f'f!our
To make the cakes, Caley uses a new '1 kg pac 'Eet?
How many grams of flour will be left in the packet:

A shipping container is 21/, m high. sl s
Six of these shipping containers are stacked on top of each other.
How tall is the stack? Circle the correct answer.

A 12m C 13;m E 14Ym
B 12 m D 13%m

The sign below is in the shape of a rhombus.
The dotted lines are lines of symmetry.

10 cm

6 cm

What is the area of the sign?

An investor puts some money into a company. At the end of Year 1, his in
is worth 4 times as much as it was at the start. At the end of Year 2, it was
2.5 times as much as at the end of Year 1.

If the original investment was £1 35, how much was it worth at the end of Year 27

A £13 500 C £1350 E £2280
B £290 D £1050

VeStmem
worth

16 © CGP — not to be photocopie
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Ciara carries out a survey of the traffic passing her house. _
She records the type of vehicle she sees and whether each vehicle was travelling
north or south. Her results are in this table, but some entries are missing.

Car Lorry Bus Total
North 31 D 49
South 3
Total 7 15 80

9. How many buses did Ciara see? m

10. What fraction of the vehicles that Ciara recorded were cars travelling south?
Circle the correct answer.

A ]/4 C 1/3 E 2/3
B /s D /s

11. Ciara later records another 9 lorries and another 7 buses, but no extra cars.

What percentage of all the vehicles that Ciara saw were lorries? qj
%o

12. A truck manufacturer says that at a speed s (in kilometres per hour), its new model
of truck takes a total distance of d metres to stop, where d = sMio0s + 1)-
Circle the distance the truck will take to stop from a speed of 10 kilometres per hour.
A 11 metres C 11.1 metres E 1.1 metres
B 1 metre D 110 metres

)

. © CGP — not to be photocopied 157 Test 5




tise your maths skills,
Time for a break! These puzzles are a great way 0 RIEE S

were talking.

It Doesn't Add Up

One evening, Claire and her friend Will J _
a e 1000.” |

wn add eight 8s together to mak oy

| ” \
FNonsense... eight 8s added together make 64. > YT N
Claire then wrote on a piece of paper:

6%%*33*6*$+$=|000

Okay... your turn.
* Add eight 4s together to make 500.
* Add sixteen 2s together to make 500.

/ 3 4

e Use ten 3s to make 600. (Hint: you might need subtraction here)

What's on the Cards?

Will now wants to test Claire.

He has a pack of numbered cards and lays a few out

in front of her to make a sequence.
@kay, Clever Clogs... what's on the card that's face dowrb

© e oy

Puzzles 2

18 © CGP — not ta be photocop



Test 6

You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. A game of bingo starts with 90 balls in a machine. Part way through a game,
34 balls have been picked out. How many balls are left in the machine?

i

Joanne and some friends are playing a describing game. On Joanne’s go, she says:

)

“It is a shape with three sides. All of the angles
are different, and one of them is 90°.”

What is Joanne describing? Circle the correct option.
Equilateral triangle

Tetrahedron

Right-angled triangle

Triangular prism

mgOo® »

Isosceles triangle

3. Liam has seven cards, shown below. The back of each card is a different colour.

Liam places the cards in ascending order. The back of the middle card is blue.
What number is on the blue card? Circle the correct option.

A 71 C 1480 E 1784
B 4810 D 871

© CGP — not to be photocopied 19 Test 6




3 is /4 full.
4. Sandy has a jug that can hold 5 litres of water. Itis '

She pours 400 m| away. How much water is left in the jug, in Millilitreg,

|

The colours of the front doors in a block of flats are shown in a bar chart below_

ot Key
= : — ; : e i -
@ | = even-numbergq flat
= T . :i"— i
z BE =l=
= [ —I
() 00 ,06‘
<

5. Which is the most comm
Circle the correct option,

A Black C Red E  Can'tsay
B White D  Green

on colour of front door for odd-numbered flats?

6.  Each floor of the block is 35 mtall. T

here is exactly one flat with 4 white frop
door on each floor of the block. How

tall is the block of flats?

O

7. %3 of the ‘Other’ doors are yellow, What fraction of all the doors
Circle the correct option.

A Y
B 25

are yellows?

C ]/6 F 1/7
D" plys

Test 6

\
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8. A ';"Ot?r spins 77 times per second. How many times does it spin
in 3 minutes and 24 seconds? Circle the correct option.

A 28 046 C 1592 E 161478
B 15708 D 24948

Lily has square tiles with side length 5 cm. She arranges them in the shape shown below.

9. What is the perimeter of Lily’s shape?
(e

10. Lily adds three more squares to her shape.

What is the area of the new shape? m
cm?

11. Daffyd is saving money for a new camera. In Week 1 he puts £50 into the bank.
Each week, the amount he puts into the bank halves. In which week does the
amount that Daffyd wants to put into the bank contain half a penny?

week ]

12. Terri is x years old. Selma is 5 years older than Terri, and Karl is twice
as old as Selma. How old is Karl, in terms of x? Circle the correct option.

A 2kx+5) C 2x+7 E S5x+ 2
)

B 2x+5 D 2(2x+5)
21 Test 6

CGP — not to be photocopied 2




You have 10 minutes to do

this test work as quickly and accurately as yq, .
: "

4.3 m, to the nearest 0.7

t measures .
hat the sailor can have?

- : tha
A sailor needs a piece of rope h of rope t

What is the shortest possible fengt
: Q |
L]

y the author costs
he signed edition cost?

f-m[[

round game on a grid.

" ed b
C £8.00. An edition signe
e tha A How much does t

2.5 times the normal price.

\ ; . i l
Ann, Billy, Cris and Dai are playing a p aYSn the diagram below.

Their positions are shown

Test 7

by their initials 0

J”—‘“—k—":ﬁ‘—f [ i
{ :_., f | i ;! :—‘; 1 .,1___,L_‘.ﬂ
24-+—t-1TTT1TT1 | Dl
T e
TR T A O —

03" & 8 10 *

nding at (0, 0). The length of the diagonal of each
far is Emil away from Billy2 Circle the correct optig,

E 9.8 m

Emil joins the game by sta
grid square is 1.4 m. How

A 88m C 7m
B 4.6m D 112m

Emil must now move to a different position, so that
he’s an equal distance from each of Ann, Cris and Dai.

At what coordinates should Emil stand?
C )00

22 © CGP — not to be photoco



5. Tamal is making apple tarts. For the pastry, he mixes together 250 g of flour
aqd 300 g of butter. He makes ten identical pastry cases from this
with none left over, and fills each one with 30 g of filling.
What is the mass of each tart? Circle the correct option.

A 580g C 850g E 85g
B 80g D s58g

6. Layla records the number of train

journeys she goes on each year for five years.
The results are shown in the table 8 !

Year 2011 | 2012 | 2013 | 2014 | 2015
No. train journeys | 26 14 17 20 23

What is the mean number of train journeys that Layla
went on each year during this period?

]

7. An A4 piece of paper is 297 mm long and 210 mm wide. Jaime wants to cut out
squares with side length 50 mm. What is the maximum number of squares that

Jaime can cut out from an A4 piece of paper?

8. Wolfgang runs a marathon in 3 hours 40 minutes. Liza takes 10% longer to run
the marathon than Wolfgang. How long does it take Liza to run the marathon?
Circle the correct option.

A 3 hours 18 minutes

3 hours 58 minutes

4 hours 2 minutes

4 hours 28 minutes

moA®

5 hours 2 minutes

© CGP — not to be photocopied 23 Test 7



ces of fabric

. 'e
9. As part of a design project, Rashida cuts Pt

into the shapes shown below.

e angles on each shape.

She th he number of obtus :
then counts the Foltiise angles?

What is the most common number 0

D

A standard piano has 52 white keys and 36 black keys. Mr Joel is a piang repaijr

e white keys and '/5 of the black keys are mﬁ]n'

g

Q

He is repairing a piano where '/;3 of th

10. How many keys are missing in total?

1. What fraction of the remaining keys are black? Circle the correct option.
A Yy Cc 4 E
B /s D s

12. White keys cost £3, and black keys cost £2.
What is the formula for the price of x white keys
and y black keys? Circle the correct option.

A 3x+y +2
B 3y+2x

C 3x+2y

D 5@+x)

E  3xy+ 2xy

112

Test 7 :
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e A

u can.

You have 10 minutes to do this test. Work as quickly and accurately as yo

s fast. What is the correct time?

1. A clock says that the time is 3:16 pm. It is 20 minute

A signpost in Pubbley shows the distances, in kilometres, 0 five nearby villages.

8.b
pleby

AP

@iperville 5.608
Hopton 5.686
< Cane 6.5 i >

Grey Pond Green 5@

||
2. Which is the closest village to Pubbley? Circle the correct option.
A  Appleby C Hopton E GCrey Pond Green
B Juniperville D Cane

3. Grey Pond Green is directly East of Pubbley, and Cane is directly West.

What is the distance between Grey Pond Green and Cane?

4. A delivery service charges £1.50 for every kilogram that a parcel weighs,
where a parcel’s weight is always rounded up to the next whole kilogram.

How much does it cost to deliver a parcel that weighs 4384 g?

L T

Test 8
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The graph below shows how the height above sea level of a popular \,
changes along its length.

Test 8

alk;
g Ot

-
o
v

Height above
sea level (m)
o
w2

o
o

080 70 20 30 40 50 60 70 &80
Distance (km)

A group of walkers took three days to walk the whole route.
What is the mean distance that they walked each day?

On the downbhill sections, the walkers were going at 3 km/h. ]k”?

How long did it take to walk the long downhill section at the end of the
Circle the correct option. Outey

A 5 hours C 8 hours 30 minutes E

B 10 hours D 12 hours 30 minutes

Pop Factory is a 4-member boy band. Their new calendar contains 12 phot
Each member of the band has two photos in the calendar featuring just then?s'
The other photos feature the whole band. What fraction of the photos featyr,
the whole band? Circle the correct option. 5

A ]/]2 C ]/3 E ]/2
B 4 D

Gina has three circular cards, each with an area of 25 cm?. She places them i,
a figure, as shown below, so that each overlap has an area of 5 cm?,

What is the area of the figure? (m
o =L cm?

26 © CGP — not to be photo‘cbp}



9. Kayleigl: stands facing North. She turns 150° clockwise, then 90° anticlockwis.e,
then 30° clockwise. Which direction is she now facing? Circle the correct option.
A  East C North E West
B North East D North West

A car salesperson wants to increase the number of cars she has in her showroom.

Each week she sells five cars, and then at the end of the week she buys enough cars
to double her remaining stock.

10. In Week 1 she starts with 15 cars. In which week

will she start with over 40 cars in her showroom?
week | ]

n 1. A rival car salesperson also sells five cars per week, and also decides to double
his stock at the end of each week. If in Week 1 he starts with 10 cars in his
showroom, how many cars will he have at the start of Week 182
Circle the correct option.
A O C. 1310725 E 17995

B 175 D 10

12. In a woodwork exam, a student is given a 10 cm cube of wood
and cuts a 2 cm cube from each corner, as shown below.

What is the volume of this shape? Circle the correct option.
A 936 cm’ C 36cm’ E 640 cm’

B 1064 cm’ D 128cm?
/12

il © CGP — not to be photocopied 27 et



actise your maths skij|g

great way to pr

Puzzles 3

Time for a break! These ‘:uizl‘iji//

Pipe Dreams
ars, CaraMini and CaraMax_

A chocolate factory makes tWo
hocolate and caramel ¢

They are made in separat€ room
from a Chocolate supply and a Car
To avoid any mix-up, none of the pipes

e Can you draw four pipes on the plan that
chocolate and caramel?

; Chocolate‘ -

aCaramel, 1S creat
| be supplied to

caramel b
s, but the C
amel SUPP|Y~

can Cross

allow both rooms to get

Y Dipe.

over each other.

ed and will be made in a
e

all three rooms with nOW 0o,

e A new caramel bar, Meg
Pipeg

Can the chocolate and carame
crossing over?

eanuts to all three bars.

ated to add p
aramel and peanuts

e A Peanut supply is cre
plied with chocolate, C

Can all three rooms be sup

without pipes crossing over?
Chocolate Caramel Peanuts ‘
Peanut Peavuit Peanuzt
CaraMini CaraMax MegaCaramel |

28 © CGP — not to be photo‘mfi



1. Two litres of water dri

int
after 2 whole A P into a cont

. ainer every hour. The contai i
What is the ca b el

pPacity of the container?

‘
0 :
o

3. Roger finds a weed in his garden that is 11.7 cm tall. When he digs it up, he finds

th'at the roots are 65 mm long. How long is the weed in total, in centimetres?
Circle the correct answer,

A B2 cmi C 172%em E 76.7 cm
B 7.67 cm D 182 cm

4.  Afactory makes dummies. It costs 1p to make each dummy.
The factory then sells them to shops in packs of 100 for £10.
How much profit does the factory make on each pack of dummies?

L 1]

© CGP — not to be photocopied 29 Test 9



e e =

i« old house. He hag 1
ay from his 01G © o 2 bq
Kazuo is moving to a new house, 2 km away y fit 4 boxes into his car. What e :‘}:‘s
®

. an on : is ne
of belongings to move in total, but he ¢ t all of his boxes to his new hf’use?
shortest distance that he has to drive to get « CI -3

i

: rice is reduced b =
6 A coat usually costs £40. One coat has a fault, sO the p y 659,

How much does the faulty coat cost? £@ EC\
. {
J

i 5 es, A and B.
The map below shows a bay with two lighthous
y A, S j_,‘j—-M—‘
8 _________1.__—-#;———-—-?“—"'—‘—"
7 e
7l

6 o o o o A
S e N

4 i ’é@
2 A B

0

b oA oAl

: Is.
7. Lighthouse A shines on Lighthouse B every 23155(?223;
Lighthouse B shines on Lighthouse A every

They start off shining on each other.

- S her again?
How long will it be till they are both shining on each ot 5

m seconds

loft and two squares down from B on the map.

g third lichthouse is built six squares _ 1 - o
¢ CVhL:: aregthe coordinates of the third lighthouse? Circle the correct option
A (2,2) c 1,2 E G0
B @30 D 2, 3)
© CGP — nc be photocopied
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9. The path through the Forest of Dyelem starts off as one path, then splits into tWO-
Both of these split into five paths, and each of these splits again into two paths.
All the paths end at different places. How many end places are there?

CCL

The box shown below is used to store identical 10 cm cubes.

10. How many cubes can fit completely inside the box?

11. When there is one cube in the box, the total mass is 150 g.
When there are seven cubes in the box, the total mass is 750 g.
What is the mass of the box? Circle the correct option.

A 50g C 75¢g E 125¢g
B 70g¢g D 100g

12. Davina wins some money. She gives 20% of it to her brother, Dale._
Dale splits his share equally between his three children. What fraction qf
Davina’s winnings do each of Dale’s children get? Circle the correct option.

o)

4 © CGP — not to be photocopied 31 Test 9
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ickly
You have 10 minutes to do this test. Work as quickly

and accurately as yoy can

A stall at a bake sale sells jam tarts for 25p each.

N

-h ¢} should Geli get?
Geli buys 5 jam tarts with a £2 coin. How much change gets

Circle the correct option.
A £1.25 C 75p
B 25p D £l

E 25p

‘ is the smalles
At the end of the day, the stall has made £36.50. V;/]ha;;éunt? t
total number of coins and notes that can make up this )

One of the windows on a house is in the shape of an irregular quadrilateral.
Three of the corners are angles of 70°. What is the size of the fourth angle?

O

Jack was born on Saturday 25th July 2015 and weighed 5 pounds and 8 ounces.

4.

Test 10

There are 16 ounces in 1 pound.

How many ounces did Jack weigh when he was born?

L.

He was taken for a check-up on the 14th August 2015.

What day of the week was Jack’s check-up? Circle the correct option.

A  Monday C Wednesday E Friday
B  Tuesday D  Thursday

32 © CGP — not to be photocopied



A cub
e has a corner cut off to form two new shapes, as shown below.
= A g
— /) Y
What is the total number of faces on the two new shapes?

L]

7.  Ekatarina catches a fish that’s 42 cm lon

ever catch, and 8 cm shorter than her bi
length between h

g. This is 6 times longer than her smallest
i ggest ever catch. What's the difference in
€rbiggest and smallest ever catches? Circle the correct option.
A Tdcm C 46cm E 244cm

B 43 cm D 53c¢m

8. The prices of houses on sale in a village are shown in a bar chart below.
8__ .

6 BRI —— ——
4- B e e |
‘ > . i = 1 R R 1

2

Number of houses

R T o
QR o o
2 2o B

& §

House price

The Joneses want to buy a house in the village for less than £200 000.
What fraction of the houses on sale can they afford? Circle the correct option.

AL € E ‘%
B 4 D

© CGP — not to be photocopied 33 Test 10



Lenia is making a mosaic using !
to the mosaic. The diagrams

10.

i

12,

Test 10

les. Each day she adds one tow

lar t : ‘
angu he mosaic on the first four daye

Dayet Day 2 DS 4
VAV,
AA

AAV

on Day 57¢
How many tiles will Lenia add to the pattern ¥

y 10¢ Circle the COrracy

E 250

: ic on Da
How many tiles will there be in the mosalc ©

A 20 Gl
B 50 DE100

OPti,

A round cake is shared between Abi, Elvera and Tina. The angle cut at the

centre of the cake for each piece is that person’s age mglﬁplie;i by 10.
Abi is 9 years old and Elvera is 14 years old. How old is Tina?

One side of a street has just odd-numbered houses. Lydia and Atif live ey daor
to each other on this side of the street, and both their house numbers are Prime
When added together, their house numbers make a square number less than 50
What are their two house numbers?
f[ e
| and | '

34 © CGP not to be phowfq)'ﬂ
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Time for a break! These puzzles are a great way to practise your maths skills.

e

T, Cut

Trace over the four shapes on the left and carefully cut them out.
Can you arrange them into the ‘T’ shape shown on the right?

/

\

Fake or Fortune?

Joseph was digging in his garden and came across two very old vases.
He knew they were very old, because on the bottom was carved
the date, month and year that they were made.

XXXI - 11 XXXI - VII
MCLI MXCXI

Joseph showed them to his friend Gina, who's something of an expert.
As soon as she looked at them, she said, “l can’t date one of them —
it could be a fake.” Which one?

 CGP — not to be photacopied 35 Puzzles 4



as quickly and accurately as y,
Ou
¢

s test. Work
dan

You have 10 minutes to do thi
Each pupil has eight colouring pencij
lis,

n class 6H.
there in total?

1. There are 21 pupils |
cils are

How many colouring Pen

{ suzie's kite are 135°. The third angf N
600 gle is GQQ

ro

Two of the angles at the corners ©

185" 135°

What is the size of the fourth angle?

On Monda i T
: y Jai ate 28.7 g of che e
A ese. On Tuesday he had 26.9 g
.9 g, on Wedne
nesda

3. Jai wri
rrites out his m :
e ok e easurements in order of size f ‘
& _ : , from lightes
e is in the middle of the list? Circle the Corlri;l:‘t:St to heaviest
: sct option. '
B 269 2 W © £ 23
il D 37.8g ~ordis

4. Into i
tal, Jai ate 1
4 60 ~heoece 1 ~
an Saturday, he ha§ géchcf“t in the five days from Mond i
e T g of cheese, and on Sunday he > ay tofriday
ss of cheese that he ate each gayet;ne 24 g of cheese
c at week? .

L

Test 11
36
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This episode was made in the year

MMXII
The first series was made eight years before the episode that Clara saw.
In what year was the first series made? Circle the correct option.
A MMXXI C MCMXCV E Vil
B MXV D MMV

Ayaan draws a rectangle on the coordinate grid below.
Its corners are at (3, 0), (7, 0), (7, 6) and (3, 6).
What are the coordinates of the centre of the rectangle?

10

8

(A==

1L

Test 11
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thick.

i If in a book

9. A bookis20cm ché)e' k are stacked neatly Ofr;haesgsok'? Shop.
Three copies of this boo . ¢

hre
What is the total volume of all t

. hi arty. He puts three
Mike is filling party bags for the guests at b'rxgi‘{viets}from each party ?)OXQS of
sweets in each party bag — but he always eats ag.
i ression for
10. Each box of sweets contains x sweets. Wh?tt ;Zg:jeixf) the NUmbe, of
sweets in each party bag? Circle the corre -
A 2x-3 C 2x+3 ~3x
B 3x-2 D.3-2Z
/ % of the sweets i :
11. In total, there are 25 sweets in each party bag. Z(C)if/:e(\?v Frui\tz QTZ: each arty
bag are Chocolate Twigs. 40% of the sweets are h ir: e ‘ . tr)est are hary.
boiled mints. How many hard-boiled mints are there party bag?

12. Ann wants to make as many prime numbers as possible by making piles of
marbles. She starts with the smallest prime number, has 50 marbles and
doesn’t re-use them. What is the last prime number she can make?

Circle the correct answer.

A 5 Cc 11
B 7 D 13

E 17

(B
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1. A volcano last erupted eleve
What is this number rounde

n-thousand nine-hundred and eighty-two years ago.
d to the nearest hundred years?

CO

Carly is making a triangular sail for a

> : retend boat to use in a play.
The sail is 6 m wide and 3 m tall, an # e

d costs £45 to make.
2. Whatis the area of Carly’s sail?

L o

3. Each square metre of a sail costs the same amount to make. Carly makes
another sail that is '/ the area of the first sail. How much does this cost?
L 0
4. The number of snails in Mia’s garden changes by the same amount each day.
On Monday there were 21 snails, on Tuesday there were 19 snails, on Wednesday
there were 17 snails and on Thursday there were 15 snails. How many snails will
there be on Saturday?
A 13 C 14 E 12
B 10 D 11
d  © CGP — not to be photocopied 39
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e puts up three in a row, He,
3. B”'Y'S bookshelves are 0.8 metres long-k ?eISes? Circle the corr ect answ man
millimetres wide in total are Billy’s boO%S We Ty

E 249 '
00 mm 00
A 2400 mm c 2400 - 000 '“m
B 24000 mm D 2400

. ) s nine
6. When Ava divides her t-shirts into 1;.@3}1?22}?;? each pile
g ; -shirts
t-shirts in every pile. How many t erendl?

if she divides her t-shirts into just three piles

7. Stripy fabric costs £11.20 per metre at a fabric shOp-fSl;m fbt')Y? ?868 i of faby,
to decorate his school’s hall. What is the total cost of the fabrics

Circle the correct option.

A £433216
B £433.21

C £43.32

D £4332.16
E £43321.60

8. /3 of the songs on Nic’s favourite playlist are pop songs.
'/5 are rap songs, and the rest are rock songs. .
What fraction of songs on Nic’s playlist are rock songs? Circle the correct optign,

A s
B %
C
D 7/i5
E 3%

Test 12 40 © CGP — not to be photocope



l'
|

Chris asked 40 pupils how they got to school in the morning.
He used their answers to draw the pie chart below.

car

9. Four-fifths of the pupils who said ‘other’ took the bus to school.
How many pupils took the bus?

L]
L )

11. Ellie’s collection of toy cars can be divided into groups of 3, 4, 5 or 15 cars
without any cars being left over. Which of the numbers below could be the
number of cars in Ellie’s collection? Circle the correct option.

A 40 C 60 E 45
B2 D 15

10. 4 pupils walked to school. What percentage arrived by car?

12. Pavel earns pocket money by washing dishes. He earns £1.75 when he starts
washing up, then he earns an extra 35p for every dish he washes.
Which of the expressions below can be used to calculate the amount of pocke?
money Pavel earns in pounds when he washes d dishes? Circle the correct option.

A  35d+ 1.75 G 1 75d % 35 E 0.35(d + 1.75)

B 1.75 + 0.354d D 354+ 175
( /12)

© CGP — not to be photocopied 41 Test 12




st. Work as quickly and accurately 5 You ¢
: Y

You have 10 minutes to do this te

school hook about time.

2NCe / are in d
The sentence below appe ared . |

,,,_l——’-"_’,-— . ('
[ econds in a year. {
'There are 31 536 000 s PN ]
TPV ATAY .

N\ J/ N~ 4 V'
= / SN
~ o~ N/ \,.

N 4 N AN
V\/ VIR

¢ Circle t
1. In the sentence, what does the number 5 represents Ci he correcy o

p five hundred thousand
g fifty thousand

Dtign‘
A five hundred million
B fifty million
C five million

e in one hundred million seconds?
3)’%

3. Maja’s wardrobe contains 5 blue shirts, 3 red shirts, _9 purple jumpers
and 3 brown jumpers. What is the ratio of shirts to jumpers?
Give your answer in its simplest form.

a OO

)

How many whole years are ther

+ Imagine a diagonal line going from the bottom-left corner of this Page to the
top-right corner of the next page. Estimate the angle between the hottom of thi
page and the diagonal line. Circle the best option. .
A 300° C 180° E 30°
B 270° D 90°
Test 13
42 © CGP
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it

A bus timetable is shown below.

\';'vightStfeet 0702 0839 0954 1109
H_ﬁs Hill 0710 | 0848 | 0959 1121
licrest Road 0720 0900 1008 1134

5. Howlong is the longest journey between High Street and West Hill?

6. What is the mean time the bus takes to travel from West Hill to Hillcrest Road

on the four journeys shown?

7. Caleb is painting a fence. He painted 24.6 m? of fence and used 3 litres of paint.
What area of fence could he paint with 150 litres of paint?
Circle the correct answer,

A 123 m?

B 246 m?

C 1230 m?
D 2460 m?

E 12 300 m?

8. A mosaic contains green and blue cuboid-shaped tiles. All the tiles are 5 cm long,
4 cm wide and 0.5 cm thick. Andy stacks 25 green tiles and 13 blue tiles together

in a tall pile. What is the total volume of the pile?
L e

~ © CGP — not to be photocopied 43 Test 13



Nadia tossed an unfair coin 480 times.
How many times did it land tails?

It landed heads one-sixth of the ¢
Me

: i Itis 16 m long anq 5
10. A lawn has the shape of a nght-angled tnanglf?- ) My
A tub of grass feed Fi)s enough to fertilise 30 m” of lawn. How many g, " Widg

feed are needed to fertilise the entire lawn? Circle the correct optign,_ Brag,
A 112
B 16 m
C o6
D 11 21 m
E 12

11. On Monday, Char thought of a number. Each day after that she multiplig
the previous day’s number by 3. She started with the. number -2
On which day was the number first less than —40? Circle the correct Option

A

moA®

Wednesday

Thursday

Friday

Saturday

The sequence will never be less than —40

12. There are 240 children in Year 6. Exactly '/3 of thfe children are boys, the rest are
girls. /4 of the boys have green eyes. ¥ of the girls have green eyes. How Many
children in Year 6 have green eyes?

Test 13

44 © CGP — not to be photock



me for a break!

These pu
puzzles are a great way to practise your maths skills.

I

Abracadabra?

Barry really, really wants to g0 to wizard school

The trouble is, he isn't very magical at all

The best he can do is chuck a 3-eyed frog about

3{ he can fill in the grid below so that the letters of the word
.WIZAR[') appear once in every row and column, he might
just turn into a wizard and toddle off to wizard school.

Can you help him?

W

A

GP — not to be photocopied
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; rately as you ¢
You have 10 minutes to do this test. Work as quickly and acCurately asyou can,

A big group of pupil d from an island.
ptis travelled to and fro blueferry.
On the way back, 235 pupils took the red ferry and the y.

Fow many pupils took the blue ferry on the way back? m

Olga counts the number of stickers in her collection each day. |
On the first day, Olga has 20 smiley face stickers. On the :if::sd (jff};eihvi h.l\/ﬁs
away three stickers. Fach day she gives away three more stl tio;'l ic day
will she have fewer than 10 stickers feft? Circle the correct option.

A Second day
B Third day
C  Fourth day
D Fifth day

E  Sixth day

Ash recorded the average temperature in her garden every day. The values she recorqeg
were 3.43 °C, 2.92 °C, ~1.95 °C, 4.20 °C, and -2.80 °C.

3.

4.

Test 14

?
What is the difference between the highest and lowest value Ash recorded:
(L)

Which value comes fourth when the readings are ordered from lowest to highest?
Circle the correct option.

A  3.43°C
B 292°C
C -196°C
D 4.20°C
E -2.80°C

46
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e

. is 252 m.
5. Abuilding is in the shape of a regular heptagon. Its perimeter Is

What is the length of each side? [:I:Ej
m

. : ch block 1s
6. Doug built a gatehouse for his model castle using 17 cuboid blockst.eifguse?
" 2 em wide, 1 cm tall and 3 cm deep. What is the volume of the ga

7. Elodie asked 45 pupils in Year 5 if they have a pet. She recorded their responses
on the bar chart. No pupil had more than one pet.

) -

(o))
1

=

Number of pets
i

24
0 >
25 2 2 8 2 3
8 & &8 © = ®©
T 8 § E o
T o =

Elodie forgot to draw the bar for rats. How many pupils have a rat?

L1

8. Acar travels 54.1 miles for each gallon of fuel it uses. It used 8.76 gallons of fuel

on a journey. Estimate how far it travelled on the journey.
Circle the correct option.

A 473.916 miles C 386.201 miles E  340.537 miles
B 601.378 miles D 404.935 miles
© CGP — not to be photocopied 47 Test 1+
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B

kes.
Martha used 36 eggs and 18 kg of flour t0 make 48 cd

: ke 8 ,
9. How many eggs and how much flour will she need to make Ccakes?

Circle the correct option.

11 eggs and 21 kg of flour
6 eggs and 4 kg of flour
21 eggs and 11 kg of flour
3 eggs and 6 kg of flour

6 eggs and 3 kg of flour

mo 0N %= >

10. Martha took her 48 cakes to a cake sale. She sold '/; of the cgkes for 8 b e
and the rest of the cakes for £1.00 each. How much money did she make? ch

ijQE

h:‘olr:. V\l/rote a simple computer program that takes a number, n,
u ip

ies it by three and then subtracts three.

11. What expression could the program use to do this? Circle the correct option
AT 2 C n+3 E
B

3n + 3
2n + 1

D 3n-3
12. The program returned the number 36. What number did Leon enter?

1§

Test 14
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1.

4.

© CGP — not to be photocopied

You have 10 minutes to do this test. Work as quickly and accurately as you can.

Tim travels frO_m Lancaster to Birmingham by train. His train leaves Lancaster at
13:58 and arrives in Birmingham at 16:14. How long does his journey take?

T Jhours(__J_ Jrminutes
A plank is 0.3048 metres wid

€. Round the width of the plank
to the nearest hundredth of a metre.

O] w

Riverton Valley Giants football club scored 63 goals last season.
Ben scored 14 of these goals. What fraction of the club’

s goals did Ben score?
Circle the correct option.
A2,
B 2%,
cC %
D
E 3,

A young rabbit weighs 800 g. Its weight increases by 30%.
What is its new weight? Circle the correct answer.

A 24kg

B 1.4kg

C 1.04kg
D 0.14kg
E 0.104 kg

49
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Test 15

R OneE evening it so!d 1907
e same PIICe, 7 e it sold 3800 tickets| Rets

\ o b h
A cinema sells all its tickets at t i film ; £
a total of £1330. On the night of 2 D18 Il the tickets for on that nigp,

: inema sé
How much money in total did the ¢in
Circle the correct option.

A £26 600

B £13 300

C £2660

D £13500

E £26 500

: urin

A group of builders place a rectang'ulalt sectsontﬁfgsagev':/f:tsis th% :(?t;'aby 33 M
next to a square section of stage with side leng Fea of the
combined stages?

C L

Agnita wants to move a shed in her garden. A plan of her garden is showp, be'ow_

Y T T T e

Y b =

A0 Tl ) o

5 m e

- shed 1

61— = BN

4 == G |
1 ¢ tree

2 i —

i

Oliron t 4 JGNS 8D
On the grid, she moves the position of the shed five squares left and
two squares down. What are the new coordinates of the corner marked 22

C L)

Rufus is cutting a pie for his family. His two aunts would like 517 of pie each, his
sister asks for 38° and his dad asks for 60°. How much of the pie is left for Rufug

1
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e

e seeds.
Gerald is planting some seeds. He plants 42 carrot seeds and 39 cabbag

gxactly 1/, of the carrot seeds and 315 of the cabbage seeds grow.

9. How many plants does Gerald end up with?

i ‘ ?
10. In total, what fraction of the seeds that he planted actually grew?
Circle the correct option.

A o

16
C 9/13 E /81
B Vg

D ]6/19

: i wW.
11. Gerald needs 1200 carrot plants. He thinks the same fraction of seeds will gro

How many carrot seeds should he plant in total?

12. Square pieces of decking are cut in half to make six right-angled triangles. |
A triangle of decking is placed along each side of a regular hexagonal pool.

The total area of the decking is 27 m2.

How long are the short sides of the decking? Circle the correct answer.
A 1m C 3m E 5m
B 2m D 4m

‘ /712 ’
&
i © CGP — not to be photocopied 51
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reat way o practise your maths skil|s.
8

Time for a break! These puzzles are 4 \
_/-‘_—— \

Daylight Robbery

Stan the train driver forgot to bring a P

make do with the station’s vending machine.
0 and cereal bars for 75

one item per transaction_

1cked lunch to work, so he hag to

The vending machine sells drinks for £1 .1”
It doesn’t give change, and it can only se

Stan has two 10p coins, three 20p coins, fou

r 50p coins and two £2 Coing

He buys two drinks and as many
cereal bars as possible.
How many cereal bars can he buy?

How O1d Are You Now? 4

Alice, Ben and Carina are trying to guess each others” ages.
They know one fact about each person’s age:

. |
* Ben’s age is five times an even prime number. ? |
* Alice is 25% older than Carina. | 3 |

* Carina is two years younger than Ben.

How old are Alice, Ben and Carina?

Puzzles 6 52 © COP — not to be photouq)#f' |



y can.

: 0
You have 10 minutes to do this test. Work as quickly and accurately as'y

\fsftwea: sdf::ner Plates have six long sides and two short sides.
b€ are Kate's dinner plates? Circle the correct option-

!
| A Heptagon C  Pentagon EVaEd
B Octagon D Hexagon
) | 2. Yasmin shares 75 swee
| : ts equally between 12 people.
| How many sweets are left over'é’y o gj

l 3. gqqaukaerea E:Zg:roolm tiles are 25 cm wide. Two tiles are placed next to each other to
angle. What is the perimeter of the rectangle?

:
l

4. Nigel wants to organise the ingredients in his kitchen by mass.

He arranges them in ascending order from left to right.
Which ingredient will be second from the left? Circle the correct option.

A  Butter C Flour E Frozen peas

B Mayo D Beans

Test 16

U1
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aseis2:7. The COmbined ‘

Y . 1. pencil € .
5. The ratio of pens to pencils IN Gavin Se'l-:S does he have? Circle the Co"ecttota'nf
pens and pencils 1$ 36. How many P E 72 thi,)n
c 4 ‘
A 8
B 12 D20
. What fracti

6. Karen played 45 tennis matches and won 27 of them ‘et 8amg, di
she win? Circle the correct answer- I

A Y
B %
C 3 /5
D
E o

7. A line painted inside a piece of scientific eql.Jipment is 0.1397 cm wide
and 1000 cm long. What is the area of the line?

8. A potter makes 120 bowls from 30 kg of clay without any clay left over.

How many bowls can she complete from 2.2 kg of clay?

Test 16 54 © CGP — not to be phwri



C 785km E  89.5km

10. One day he walks 209,

further than normal.
How far does he walk on this day?

Enan"

A new band released a single which sold well in the first week.

ying the band’s single decreased by 50% each week.
They sold 1000 copies in the fourth week since the single was released.

1. How many copies did they sell in the first week?

| 12. The next single sells 1000 copies in the first week, The numberiof
sales in each week after that can be found by doubling the previous

week’s sales and then adding 500. In which week after its release will
weekly sales first be greater than 70002 Circle the correct answer.

| A 2nd week C  4th week
| B 3rd week D 5th week

et T

E  6th week

iy VENSR.. )

("l QCG
Pl
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i and accuratel
You have 10 minutes to do this test. Work as quickly Y as yoy Can,

. - as won two-huynpd
1. A presenter announces that the winner la/?;?titfltzi? P writt:l:?rﬁq
seven thousand and fifty-eight pounds. 'Bureg
£
2

Mandy and Paul are reading the same book. Mandy has read 421 page

many pages does Paul have ¢ g hag
389 to go. Paul has read 414 pages. How Y 0 ga?
Circle the correct answer.

A 446
B 382
C 421
D 414
E 396

Quentin adds 1000 ml of orange juice and 450 m! of mango juice to 1.5 litres of Watey
to make a tropical juice drink.

3.  What is the ratio of orange juice to water? Circle the correct answer.
A 1:2
B 2:1
C 3:2
D 2:3
E 3:1
4. How much tropical juice drink does Quentin make?
alaa}
56 © CGP — not to be photocope
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oS I IFs

2 4

The arrangement and position of the
mirror line. What will be the new «

© CGP — not to be photocopied




N

Kellie ‘€asured the amount of rain that fell in her garden each month for fo,,

0
€ values she recorded were 112 mm, 127 mm, 119 mm and 126 mm, Nthg
8. Whatis the difference between the largest and smallest value she recorde;
9 , ] iy
* What is the mean of Kellje's monthly rainfall measurements?
Circle the correct answer.
A 118.5 mm C 121 mm E 116 mm
B 1235 mm D 96.8 mm

@ réCtangular wall being decorated is 3 m tall and 12 m long.

10. Harry has wallpapered half of it. What area has he wallpapered?

1.7

Harry uses one rol| of wallpaper to cover every 3.1 m? of wall. What’s the SMalley

number of rolls of wallpaper he needs in total to decorate the wall?
Circle the correct answer.

A 12 c 7 E 11
B 9 D 10

12. Leanne is moving house. After a company moves her furniture, she finds
her chair is upside down, and her table is broken. What is the size of
the angle between the table leg and the back of the chair, marked x?

¢
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You have 10 minutes to do this test. Work as quickly and accurately as you can-

1. Momo splits 96 dominoes into 6 piles. How many dominoes are in each pile?

[

Robert measured the width of his father’s car.
Circle the option which is most likely to be the width Robert measured.

A 19%9cm
B 19m
C 19mm
D 19m
E 0.19 km

3. Gustav puts one coin in each of his three piggy banks every day.
How many coins does he have in total after 62 days? Circle the correct answer.

A 186 C 246 E 124
B 126 D 184

4. A factory that operates every day can produce 9 engines a week.
How many engines can it make in 21 days?

(L)
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wared paper, ,
ote it down 0N 54
5. Mark thought of a number and wrote it

it down.
Mark tripled his number and wroté it

¢ Circle the correc
Which number is now in the hundredths column? tang

Wep
A 6
B 5
C 1
D 7
E 8

dminton.
All players in a badminton league play 25 games of ba
ntage of games d;
6. Tanvi won 11 of the games she played. What percentage of games dig g, i

7o

i 11 points.
Maria’s mean score for all her games was 11 P -
How many points did Maria score in total? Circle the correct option,

A 44

B 275
C 154
D 261
E 550

8. A large tent is made from 4 fabric panels. One panel is a la_rge square with
sides of 5 m. The other panels are rectangles that are 2 m high and 5 m wide.
What is the total area of the fabric used in the tent?
Test 18
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: ils.
A school won £23 092 to spend on books for their 387 pup! Tl
circle the best estimate for the amount of money they spend on each pup

3
A £0.60 G EE0 67 E £5966.9
B £5.97 D 596.69

The conversion graph for converting Northern francs into Southern pounds is belo
R 1521 0 5 it L1
8 801+ 1 it o IR ng‘_.,_ L ) e )
e
A EREEEE a1
§40~ = ',l,A,.*i-,y,‘?<_l 1‘;77T":177‘“{
P e
5 e 0 O i 0 o L B |
0 2= 2 0 I T A O B L
0 1 E27E A U6 6 na e lioNEe

Northern francs

10. Sam wants to convert 60 Southern pounds. _
Use the conversion graph to estimate how many Northern francs he will receive.

SIS

11. Radek has 200 Northern francs. How many Southern pounds could he exchange
them for? Circle the correct option.

A 1800 Southern pounds D 900 Southern pounds

B 220 Southern pounds E 22 Southern pounds
C 180 Southern pounds

12. Nasrin used 5 litres of paint to cover a wall measuring 15 m?. If the paint
is sold in 2 litre tubs, what area of wall could she paint with 12 tubs?

‘ i ‘ ‘mz
( / 12]

Test 18
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Time for a break! This

J5ure buried on an islan,

puried TreasuI¢ Jrate 7€

. me , . :
, . iogto find 5O 4 list of instructions |eft
Captain Jack Pigeon 15 wyine mbere squares(j A for
e dwlde(ii;:ttk?er, Captain Bluebif Can you use the

instructions to work
out in which square
the treasure is buried?

him by his great—gran

The treasure is not buried...
« under a blue square

. under an even number
« under a prime number
. under a number at the edge of the map

. under a square that is horizontally, vertically
or diagonally next fo 2 square number

o

— L

~

|
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you have 10 minutes to do this test. Work as quickly and accurately as you can.

Five pupils measured the amount of water their families drank at a meal. .-
The values they recorded were: 900 mi, 1.3 litres, 750 mi, 0.62 litres, and 160 ]

tf these values are put in order from largest to smallest, which value would be in
second position? Circle the correct option.

A 900 ml C

750 ml E 1600 mi
B 1.3 litres

D 0.62 litres

In a survey of 1000 people, 370 people said that they enjoyed swimming.
in the same survey, 260 people said they went swimming regularly.

© CGP — not to be photocopied

How many people did not say that they enjoyed swimming?

(LT

What percentage of those asked did not say that they go swimming regularly?

11 )

1/g of the sweets in a packet are strawberry flavour. Oliver buys two packets, each
containing 32 sweets. How many are strawberry flavour? Circle the correct answer.

A 12 C 16 E 8
B 4 D 6

A hotel contains 80 rooms. Every bedroom in the hotel has seven electrical
sockets. In total, fifteen electrical sockets in bedrooms are broken.
How many working electrical sockets are there in total in all the bedrooms?

L)

Test 19
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itch has sides of 45
& rectangular playing field containing a football pitch M ang

20 o
® What is the perimeter of the playing field? %
7 .Y arallelogram is next to the I b
A >econd playing field in the 2118ps O;fdahgs the same length and g ',
playmg field. The second playing e f the second field? as the &
feCtangular playing field. What is the area o
not to scale
m
8. Abusy telephone call centre receives a c.aH every sec?ond.
OW many calls does the centre receive in two hours?
o Imogen’s cat is 4.8 years old. Use estimation to worl'< out
how many days old the cat is. Circle the correct option.
A 1425 days C 861 days E 2836 days
B 1753 days D 1297 days
Test 19
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11:

sandra pushes a roundaboy; in

) a play o
completes 60% of a full turn, pygu, 100 "9 The roundabout

1ow man

roundabout has completed a fy y degrees are leit until the

100° I turn? Circle the correct answer,
A

B 60°

C 216°

D 144°

E 252°

Tara thought of a sequence. The first n
the second is 49, the third is 56 and th
What is the sixth number in Tara’s seq

umber in her sequence is 41 :
e fourth is 62.
uence?

12. Abus company calculates the cost of its tickets by charging £1.50, plus
50p per kilometre travelled. This means that the cost of a ticket for a
journey of d kilometres is given by the formula: cost = 1.5 + 0.54.

Nina was charged £3.50, how far did she travel? Circle the correct option.
A 2km
B 25km
C 3km
D 3.5km
E 4km
()
CGP — not to be photocopied 65
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You have 10 minites 10 do this test. Work as qmckly and accumz(_\{y as

:dn_
1. There are seventy football shirts in thi\l/ahl”:‘:: zlc:(i)(():ino(f)ilif()[()'ﬂmlI cluly
o i at ire > shi :
away shirts, the rest are home shirts. s are h‘)m@womv
Circle the correct answer. i,
4 X
A 1/7 C /7 E 6/7
B 2/_' D 5/7

A hall contains lots of square tables with sides of 90 cm.

Noah places four tables together in a stratght !tme};
How long is the line of tables in metres? Circle the correct answer.

A 36m C 0.18m E 360m
B 1.8m D 036m

[

3. A surveyor measured an electricity pylon as being 415.05 m tall.

What is this rounded to the nearest 10 metres?
O,

4. A normal 6-sided dice has sides of length 3 cm. What is its volume?

m cm'
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lr(s? ;

P =

Lunchtime at Down Hishior: .
5. Brian spends sjx Wg Primary school starts at 12:25 and lasts for 65 minutes.

hol :
How long, in minmesedlunchtlmes working on an art project.
» 40es he spend on his art project at lunchtime?

6. Onaclock in a clagg

pointing just after x 11" € big hand is pointing at IV and the little hand is
- How long is it until lunchtime?

8 water to squash in the ratio 8:1.
fink can be made with 9 litres of squash?

l I l l l litres

A hockey club :
e nurZIbelrJ ofprlf)ts(:d igraph of their position in their league against the
S the team had trained since the beginning of the season.

25—

7. Adrink is made by addin
How many litres of the d

Position in league

== O N
o O or o
. L = -

200 400 600 800
Total hours of training since
the beginning of the season

The captain told.the team that the more the team trains, the worse their position

becomes. Why is the graph misleading? Circle the correct option.

The line isn't straight.

It looks like the league position is lowest when time spent training is highest.

The graph doesn’t show their final position in the league.

The axis showing number of hours training doesn’t start at 0.

The axis showing the position in the league starts at 0.

mgooOHw >
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Becky thinks of a number, adds 3, then .halves the number and g,
Her final number is 21, what ~umber did she think of? Circle thebct;actsz

A 12 cC 4

rrec
t
41 qu
B 39 D 9 0

10. A 200 uses two buckets of bananas each day to feed six monkey,

How many buckets of bananas will they need each day to feeq fifteq
n
A 4 C 6 E 8 monkﬂ}..
B 5 D 7 Sf

A poster for a charity concert is shown below.

Charity Concert!
Ticket prices
AGURS ecornammrasansnasszessoses £9
CHUArEN.. o covssirsonanannainnes £5

75% of ticket price goes
directly to charity!

11. Alec bought one adult’s ticket and one child’s ticket.
How much of the money he spent on his tickets goes to the charity?

LI

The organisers of the concert sold a adult’s tickets and ¢ children’s tickets
The concert raised £75 000 for ;harity. Which option below shows the (‘.qudn
for the total money taken from ticket sales? Circle the correct option. .

A 9a + 5¢=75 000 D 9a+ 5¢= 100 000

B 5a+ 9¢= 100000 E 5a + 9¢ = 75 000

C 9c¢+ 5a=50000

12

2V
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They're a bit shy, so
board that can only

Jewer but has than
E Lancelot | swards has Arthue
he than |Guinevere| wmore
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1. Roger has 189 daffodils. i ssible. )
He wants to make as many bunches as [?O the correct option:
How many bunches can he make? CIrcie E 22

A 18 G
B 16 p, 1!

LucalUH ’ I ) I |4|l| th nr“nf

i Utes on Satu’day, an(i f :
. S 1056 = hOU S in = : ; ! e
Weekelld, long doeS he run ‘Ol in tOta on that )

3 hours 50 minutes on Sunday. How
| ‘ \ hours, ‘ l ‘minuteg

3. A blender uses six apples to make 900 ml of juice.
How much juice will it make from blending 4 apples?

L

4. Harry gets a box of 24 chocolates. He eats 4 straight away, and then eats '/, of th
remaining chocolates the next day. How many chocolates does Harry have left?

Circle the correct option.
A 9 c 13 E 17
B 11 D 15
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V e —

n international phone call coc
' 4 i | costs 15p per minute. Rita makes an international call

much does Rita’s phone call cost?

L1

game that is played on a coordinate grid.
e shown below.

y P
T

that lasts 1 hour 40 minytes. Mo

Tara and Petr are playing a board

6. The positions of their counters ar

0O
\

——
— 1 |
—
t———t

|
|
YEN

0 2 4 6 g x

Jarafiboves lh.er counter two gfid squares left and three grid squares up.
Petrlmoves " Count’er two grid squares down. How many squares away from
Petr’s counter is Tara’s counter now? Circle the correct option.

LS, c 4 E 7
B 2 D 5

A stationery company sells 2 different sizes of sticky notes —
12 cm x 7 cm and 10 cm x 6 cm.,

7. What's the difference in area between the two types of sticky note?
(L e

8. The sticky notes come in packs of 100. Each pack is 0.9 cm thick.
How thick is each sticky note, in millimetres¢ Circle the correct option.

A 0.9 mm C 900 mm E 0.009 mm
B 90 mm D 0.09 mm
© CGP — not to be photocopied 71 Test 21



: test.
5 na maths i
ect | did Donna get correct?

9. Donna got %/ of the uestions corr S
gl 4 the test. ow man

There were 48 questions O

at the hour hand is missing.

morning th

Rae has a clock, but notices on€

t the minute hand moves each minute?

10. What is the size of the angle tha

Circle the correct option.
A8 R C 6° E, 2%
B 5° D 10°

11. Rae works out that on the clock above, the position of the hour hand shoulq ,
he minute hand. What is the time? e

75° anticlockwise from the position of t

Fach week she sells one teapot, but immediately

12. Faula has a teapot collection.
0) T 2
d(l;())’s t:ree more to replace it. In Week 1, she has two teapots. How many t

s she have in Week n? Circle the correct option. Y €apot
E 2n

A 3n-1) C 3n-1
B 2n-1 DL 37

Test 21
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you have 10 minutes to do this te

st. i
Work as quickly and accurately as you can.

icardo saw a car i

" 5‘\/hat is the cosctj;fl?h: S(':Z(:Wroom on sale for £17 498.95

. ro A
Circle the correct option. unded to the nearest thousand pounds?

A £17 500

B £18 000 C £17400 E £17499
D £17000

2. Abuildercutsa 7.2 m lon i : :
How long is each sectiOn?g plank into eight equally-sized shorter sections.

L

'y of the towels in a shop are blue, '/, are green and the rest are purple.

3. What f:action of the towels in the shop are purple? Circle the correct answer.
A /3 C 1/2 E 1/8
B 1/4 D 3/4

4. There are eleven green towels in the shop. How many blue towels are there?

(11
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; | together so that the |, ! 4
ds are gIUEd dase
5. Two identical square~based pyc:i/mrlnany edges are there on the octapa " arg

I oy
This makes an octahedron. H on? \ln%

A\

' i l.
Seven copies of a book weigh 800 g 1N tota -l .
i i e 1he
6. A number of copies of the book are lnha plilﬁe-? The pile weighs 3 2 ke,
How many copies of the book are in the pries

h do seven copies cost in total?
LI

les triangles. The shortest side of
d to a string, as shown below,

7. Each copy costs £3.95. How muc

Some bunting is made from isosce
each triangle is 20 cm long and is attache
There is a 10 cm gap between triangles.

10cm 20cm 10 cm
l—p >

65°

8.  What is the size of the angle marked x? N
9.  The bunting has to span a 15 m wide street. How many triangles are neededt
Circle the correct option.

B 750 D 75

Test 22 74 O CLP < not lo







3.

Test 23

You h

Ve 10 minutes to do this test. Work as quickly and accurately ag YOu cqp,

Andy’s fam;i :
amily are going to Cornwall. ) e
efore they set off%)hisgmum’s car had travelled this many miles:

4 miles from their destina e, ?
OW many miles had the car travelled when they arrive wall:

OO0

fabri h with si
Tom has a square and two regular pentagons of.rabnc, eac ide lengy, 4
He uses them to make the pattern shown below.

"hilq,S

Cm.

What is the perimeter of the pattern?

has sorted into piles of Six.
? Circle the correct answer.

E 50

Paul has 312 trading cards which he
How many piles of cards does he have

A 52 )
B 108 D 102

& CGP — notto be phuloujm



d

kyler made 1000 paper aero

la : er
H e rest omited e Planes. She made 428 of the aeroplanes from blue pap

What fraction of Skyler’s pa
: per aeroplan ade f er?
Circle the correct answer. planes are made from blue pap

428
A /500 C

114 132
107 /250 E /500
B /250 D

1975 00

5. Skyler threw four of her paper aeroplanes. They travelled 10 m, 3 m, 14 m and

15 m. What is the mean distance the aeroplanes travelled?
anm

A school received a.delivery of bricks in a shipping container.
The bricks are cuboids with square ends, as shown below.

16 cm

%6 cm

6. Each brick has a volume of 720 cm®. How long is each brick?

(L Jem

7. The shipping container has a volume of 37 440 000 cm® and is full of bricks.
Estimate the number of bricks in the container. Circle the correct answer.

A 52000 C 5200 E 520
B 520 000 D 5200000

8. A recycling lorry has to pick up recycling from 800 homes.
35% of the homes forgot to put out their recycling boxes.
How many homes forgot to put out their recycling?

L
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Luke makes 1.8 litres of juice every day.-

s¢
9. How much juice does he make over 31 day

|
ke 162 litres of juice? ]lit;
10. How many days will it take Luke to ma ¢ 4
: by the s :
11. The percentage of banana in Luke’s Smoz§h|a§? zr‘]’/%eljan};na. s amO““t ]
each day. On the first day, Luke’s smoothi€ e
On the second day it was 8% banana and on ftirst be over 30%2 fo;
On which day will the percentage of banana
Day[ E\
12. Sandy is using a coordinate grid to plot how 2 S_all on a windmill moves_
= —T ’_‘—51"_“‘\—-_'*._‘7* #‘ ;
When the sail is rotated by 180° about (0, 0), what are the coordinates of Point
Circle the correct answer.
A (2,4 C 4,-2) E (4,2
B (-2,-4) D (4-2)
;
Test 23
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e for a break! This puzzle is a great way to practise your maths skills.

o
crossnumbersearch

(| of the numbE_ars beloyv fit into the crossword grid — except one-
complete the grid. Which number doesn’t fit?

36 608 4747 41 803 91 260 517
58 916 5364 68 698 97 160 320
486 1400 9491 99 589 2204 846279
547 1693 40 051 57 643 764 7948 803 567

pm—
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wWork as quickly and accurately 4 .
You

es to do this test.

You have 10 minut
an,
: . 5 forty of her friends.
1. Sally divides £36 equally between A s P
H()\?\I/ many much money does each persen receive? Circle the Correct !
A £1.30 c £1:20 E fo9qg O
D £0.40

B £0.60

2. Oneyardis approximately 0.91 metres: A sweetshop sells giant milk che

; t dark chocolates in
in packets that ar€ one yard 10N and g'i""; S n packets COlyy,
how much longer are ark chocolate at
Packey &

1 metre long. Approximately :
milk chocolate packets? Circle the right answer: S the,
A 90cm € SRS £ 0.9 m

B 09cm p o

irwin asked his class 10 choose the tyPe€ of tree they liked best from a list of fj,

He plotted his results on a bar graph-

2045,,_,//’__‘
161
£

larch oak ash peech elm

3.  How many said they liked the larch best?

4. How many more people chose the most popular type

of tree than the least popular type of tree!?

Test 24
= to be photg



An airline has two sorts
5 s propeller-driven plane
prC,pelker-drlven planes f|

A 3400 miles
B 850 miles

%‘,e en

fplane, Its let

= f_ly at half th
YIn 188

rail is a wooden trian
d faces of an arris rail

e

: . inutes.
planes can travel 850 miles in 94 m”;tz
€ speed of its jet planes. How far can
Minutes? Circle the correct answer.

C 2550 miles E 425 miles

D 950 miles

gular Prism used to make fences.
are right-

angled triangles with a surface area of 11 cm”.

Wwhat is the volume of a 100 ¢m long arris rail?

Eight arris rails are arranged as shown.

what is the total area of each end face of the arrangement?

jaromir used 75 eggs to completely fill three large egg boxes.
- How many eggs can he fit in 60 large egg boxes?

@ CGP — not to be phomcopied
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the test it has to cove,
A new type of freight train is being tested. As Esatir:nzfte pevrmanyshanrs s e
#197.0 km and travels 113.4 km every hour. le the correct option. Or
the train to complete this part of the test. Circ

A 370 hours C 37.0 hours E 3.7 hours
B 250 hours D 25.0 hours

Pete wants to by
and

10.

¥ enough brown paint to cover every wall of a new house,
enough white paint to cover all the ceilings.

. 2
He estimates that he needs enough brown paint .to cover 230 m2, .
1 litre of paint can cover 10 m2, A shop sells 5 litre tubs of brown paint for £13.

How much does Pete need to spend on brown paint?
L0

t he needs to buy enough
side of these rooms?

T1. Pete has three identical square rooms. He estimates tha

white paint to cover 192 m2. What is the length of each
Circle the correct answer.

A 12m C 16m

E 8 m
B 20m - D 9m

12. It takes n(n + 3) minutes to serve

a group of
How long will it take to serve a t

People at 3 restaurant.
able o

f nine people?

/12




Wendy uses a £5 note tg b, tw
15 How much change shoy|q SY o le

ttuces for 49p each.
he receive?

Evan iamft;é;vso faces of a mode| square-based pyramid red and paints all
the other green. How many faces are green? Circle the correct answer.

AR .- R
B 2 9

Five pupils picked up a leaf each from the playground and measured their lengths.
The lengths they measured were 7.7 cm, 0105 m, 28 mm, 0.1 rand 49 mro.

3. When ordered from shortest to longest, which value is in fourth position?
Circle the correct answer.

A 7.7 Cn C 28mm E 49 mm

4. What is the difference in length between the longest leaf and the shortest one?

Give your answer in centimetres.
G-m Cm
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Test 25

£ oy Ton

16 children wore black or white socks. |
How many wore purple, brown, pink or grey S0

'

At a rugby match, 95% of the seats are filled, and there are 3300 empty sezr;

How many seats are there in the stadium?
A 30300 C 66000 E 60600
B 20000 D 33000 o

house.
. i from a lorry to a waret
Erica has to move boxes of stationery 3 can carry a maximum of 9 kg at one,

Each box of stationery weighs 800 8- Eric house will it take her to move 35 bUXes

How many trips from the lorry to the ware
of stationery? [j:[\
&
84 © CGP — not YObEphmzh
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A type of 1ug is 0.8 m vy, Ad 1.2 m long, Two of these rugs are
placed side-by-side. W, is the combine% area of both rugs?

r O

. g - 9'

There are 48 people in a sch

00| orchestra.
. percussionists. Nobody pla

YS more than on
10. How many don't pPlay either the violin

M O
g play violin, '/ play clarinet and 25% are
e instrument.

or the clarinet?
Circle the correct answer.
A 28 C e S
Ba22 D o4

11. Everyone in the orchestra practises at home for 30 minutes each day, except for the

percussionists who practise for an hour each day. What is the total amount of time
that the members of the orchestra spend practising at home each day?

rian thinks of a sequence.
‘?he first five numbers in his sequence are 5, 12, 20, 29, 39.

i is 120.
12. The twelfth number in Brian’s sequence is 137 and the eleventh number is 1
* What i the tenth number in Brian’s sequence? I I ]

/12

Test 25
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This is a Fold Up!

Ali likes making things out of folded paper:

Her paper is 0.3 mm thick. She folds a large
sheet of paper in half six times.

How thick is the wodge of folded paper?

Grab a piece of paper and try for yourself —
how many folds can you do?

Ancient Rocks

Four rocks from an ancient civilisation have been found i
They all have four numbers carved onto the front.

One of the rocks is partly obscured by a bush.

Which numbers are hidden behind the bush?

Can you think of some other rocks that could be found?

n a woodland.

—
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Test 26

you have 10 minutes to do this test. Work as quickly and accurately as you can.

The tir;ne taken for a scientific process to take place was measured as
art ot anhéx[?erlment_ It was found to take 0.2952 seconds.
What is this ime, rounded to the nearest hundredth of a second?

O

5. A playing fie.ld is in the shape of a regular octagon, as shown.
How many lines of symmetry does the playing field have?

3. A room measures 400 cm by 350 cm.
What is its area in m?? Circle the correct answer.

A 140 m? C 14m? E 140 000 m?
B 1400 m’ D 14000 m?

4. A 20-sided dice has the numbers 1-20 on its faces.
What is the ratio of ‘sides numbered with a multiple of 6’
to ‘sides numbered with an odd number’? Circle the correct answer.

A3 210 € 6210 E 10:6
By 10:3 D 3:2
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Thomas spun a 6-sided spinner 20

Test 26

; tres of some fence posts fr
istances in M€ s
The sequence below shows the i 1o be equally Space? outin ajing
end of a garden. All the fence P m) will the next two T€NCe posts he;

How far from the end of the garden (in

1/21 11/41 2, 23/4! = =

Circle the correct answer bhelow. 5, |
A 3%, and 4 c 3'and 4'/ b > and 41/,
4 2
B 3 and3% p 3'and4

times. His scores are shown in this table,

—roquency |
Score | Froqueney]
5

___,_1_--~.-—-——-§""""

2 o e
i GO DR
i

Ae il 0 .
ol

5 | 2
e nians

What was his most common score?

et N
Thomas wants to show these results in a i€ chart.
What angle will the section showing the least common score make?

A firm can make an ornament in 5 hours.

A new manufacturing process means that this time can be reduced by 30%,.
How long will it take the firm to make an ornament in the future?

30 cards need to be split into a number of piles of equal size.
The number of cards in each pile has to be a prime number.
What is the largest number of cards that can be in each pile?

U
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10.

il

12.

'CGP — not to be photocopied 89

How big is angle y?

The region between the four
The perimeter of the whole
How long is the perimeter

tiles Lhasa o
desig,n is shown in
of the whole design?

The total amount in pounds (¢) charged by an electrician incl
e a call-out charge of £30

e acharge of £15 for each hour

Which of the formulas below

gives the total cost (in pounds) for
takes the electrician h hours?

Circle the correct option.

A C=15h+ 30
B C=30h+15
C C=30h+15h
D C=@0+ 15
E C=45h+15



You have 10 minutes to do this t

2.

57

4.

est 27

kly and accurately as yqy, o

ost. Work as quic

- 6 pieces-
Oisin has half a pizza to divide equally fl,nt(i)ecepbe?
What fraction of a whole pizza will each p

Circle the correct answer. B
AR c
Bt /s DY

: his new shed. .
o o 7o ke ol b”CkEaf(s)rusled 92 kg of the bricks.

After one day of bricklaying he ;
What is the mass of the remaining bricks? [jI]
'

A bamboo plant is 4 m tall one morning. During the? day its height
increases by 5%. How tall is it at the end of the day? D m
: m

The blade of a craft knife is shown below.
4 cm 4

1“\

—

4
7 cm

What is the area of the blade?
B

920 © CGP — not to be phOtOCopid
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A 20° clockWISe
B 100° clockwise




e —

: following time
The depth of water in a bird bath during a day i shown 1 the Brap,

p-—"j
12 =0 ==
—— b-'——-_
= / == —
g 8 7 ___,__S .
N |
— ] B
%4 1 | L
o B B R e =i
2 o —1
i L
L e = =2 2
0 o o (=) 8 Q o = O
SEolgiag sl o & 2 a2 T v
SNghaia e & 2 = = O
SRR DR SR Cog <2
ity f water
y c ot W
9.  What is the difference between the highest depth

in the bird bath and the lowest? m
iy

[ he co
10. During which hour did the depth change the fmost? Circlethe < rrect answey.

Between 04:00 and 05:00
Between 05:00 and 06:00
Between 06:00 and 07:00
Between 07:00 and 08:00
Between 08:00 and 09:00

ol e )

he angles in a sh :
To mak eds to know what t ape
ake a stone column, a stonemason ne d the sum (8) of the angles: S="1gu ”luz\;

n sides add up to. He uses this formula to fin

11. What do the angles add up to in a shape with 6 sides? CE

12. The cross-section of a stone column is shown below. It is a regular polygon,

What is the size of angle x? Circle the correct answer.
A 108° C 135° E 150°

B 120° D 140° M2

Test 27 92 © CGP — not to be photocoiy

-



3.

OCGP — not to be photocopied

e

The price of a new ¢

ar i
What is this reductj 1° reduced by ;.

O
1 3s a percentage?

What are the new coordinates of the hat-stand? Circle the correct answer.
A (5, 2) C (@, 3) E (2, 5)
By (3, 2) D .(6,3)

A stack of five hundred sheets of paper is 5 cm high.
What is the thickness of a single sheet of paper? Circle the correct answer.

B 0.T mm D 0.001 mm

Breckin cycles round a track in 8.898 seconds.
Olivia takes two hundredths of a second longer to cycle round the same track.

How long did it take Olivia to cycle round the track? {‘J [ L
: | is

93 Test 28




12 cm

(e this larger X
How many 2 ¢cm containers would fit into this larg

7. 2435 raisins are shared out between 8 frieng "
Each friend receives the same number of raisins,
How many raisins are left over?

but some raisins are left o

The regular polygon below is a scale drawing of a garden.
The point O is the centre of the polygon.

8m

8. What is the perimeter of the garden?

9. What is the area of the garden?

Test 28 g4 © CGP — 1



0 Amelie threw a 4.5i4
what was her mean €T scores were 1,.2,4,3.4.1.

Al C frect option,
B 1.25 E

ed dice 6 times
SCOre? Circlel

2.5

11.

A (3,-3)and (-5, -3y *[ﬁ * T

B (3,3)and (-5, -3 5

C B,-~3)and (-3, -5) 5

D (=3,-3)and (-5, 3) B 1

E (3,-3)and (3, -5) b f -3 -2 91723 5%

12. Aalia has 6 green sweets and 3 red ones.
Calum has 8 green sweets and 5 red ones.
Calum gives 75% of his green sweets and 20% of his red sweets to Aalia.
What percentage of Aalia’s sweets are now red?
([ =

-

28
9 5 Test

© CGP — not to be photocopied
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Testing Times

A teacher tells her class about a surprise test.

Y &

I"ll choose one day next week for the test
— any day from Monday to Friday. _\—
But it's: very important that no one knows exactly
when it will be until the morning of the test.
_ No one can know the evening before!

Smart Alice says that the test can’t be on Friday.

—_——

How does smart Alice know the test can’t be on Friday?
* Why can’t the test be on Thursday?

® Can the teacher ever set the test?

'I
|
I

Stirring Things Up E

I have a glass of ink (labelled 1) and a glass of water (labelled 2).

The glasses are the same size and they're filled to the same level.

e | take 100 ml of ink from glass 1 and add it to glass 2, stirring thoroughly. |
e | then take 100 ml of ‘inky water’ from glass 2 and add it to glass 1. ‘

Which is greater...
...the amount of ink in glass 2, or the amount of water in glass 1¢

—



A firm sells toys for 20% mq

If it costs the firm £5.50 to © than they cost to make.

make a toy, what is the se'l'li'ng prlce? |

9. Pa?|zlgf(frdiss tl;)r:)‘l?d 2.375 % 1.84, but the decimal point button on his
calc en. He calculates 2375 x 184 and gets the answer below.

437000

What is 2.375 x 1.842 Circle the correct answer.

A 0.0437 C 437 E 437

What is the total area of the object’s surfaces?

e

4 | have 16 cards numbered 20-35. What fraction of the cards show multiples of 32
Circle the correct answer.
A 3/1 6 C 5/16 E 1/3
B ]/4 D 3/8

OCGP — not to be photocopied 97 Test 29




| ‘-S'arah

6. What is the difference between Gemma’s and Sarah’s scores?

I |}
' 1) 7. What is the mean of the scores given by the five customers?
e ey E 1 1

B 0.2 D 02

8.  Stuart’s best time to complete a computer game was 3 hours and 40 minutes,
He then plays it again and reduces his best time by 10%.

What is his new best time? :
D hours, m mij

9. A cake is left in the kitchen. People arrive in the kitchen one at a time and
each person takes half of what's left of the cake. So the first person takes
1/, of the cake, the second person takes 1/, of the whole cake, and so on.

What fraction of the whole cake does the fifth person take?
Circle the correct answer.

7

B /e

o
D Y.,

Test 29 98



440 marbles are to be share :
W geatrice will receive 4 timesdaOUt between Andy and Beatrice.
S many marbles as Andy.

How many marbles wil| Andy receive? Djj

The graph below was used to
g at a busy road junction, show the effect of a new roundabout

Slo s Year
S IO A A WD A B

= ] 1 !
5 New roundabout
2 1017 bt
& 20 > | f‘.\\
i AT [
230 Yireac= 1Y
() e——. | | | \
oD —
§ AR e .

o A ) SR S i, i |

A poli.tician Claimed that the graph proves the roundabout reduced the number
of accidents. Why is the graph misleading? Circle the correct answer.

A The vertical scale doesn’t include 0.

B The years should be on the vertical scale.

C The numbers on the vertical scale aren’t evenly spaced out.
D Bigger numbers appear lower down on the vertical scale.

E The vertical scale should be labelled in fives.

12. An energy company uses a formula to find the cost in pounds (C) it should

charge a customer who has used # units of electricity.
A customer who has used 200 units of electricity is charged £25.
Circle the formula below that could link C and .

A C=]/~|001’I+23 g
o
B C=1/1On+18 TR
C C =30+ ]/]Oorl
P €=100n+ 23
N = 10n+ 15
/12

Test 29
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aph shows Adi’s bank;ba“lanc_egat_ the start of each month over a 9-month,

6000 A N
500011 T T
g 4000 R [l aE T
— i L ;’ T v : ‘
Jaol /N
20001 NNV T
1000+ —+ ] IIIL
1y X : ' | | . |
SO L & A LSO
T Month

| 2. If Adi’s balance is below £2000 at the start of any month, then he has to Pay a1
' How many times did he have to pay this fee during this period? €,

3. What is the difference between the highest balance and the lowest? D

4. The beams in a house are arranged to form isosceles triangles, as shown belgy,

What is the size of angle X? Circle the correct answer.
A 35° Cri20¢ B35
B 110° D 25°

P
i

Test 30 100 © CGP — not to be pholo



What fraction of the sections show a factor of 122 Circle the corred an
=i C aallis e
B 1/4 D Y% s

swer
e 1/& 13 "i:\l~.‘4".d ',*’

S runnmg laps of a rectangular football pitch.
e pitch is 75 m long and 45 m wide.

How far has he run after 3 laps?

-’u K

AJ VN R 4. 3— £
Sean always runs complete laps of the pitch. o e S '5’“’“

- Today he wants to stop as soon as possible, but still run at least 10 km.
How many laps in total does Sean need to run? Circle the correcﬁalmy%ﬁ X

C 40 E A2 sl

R




Fhave 21 ) :
ack sheep and 35 white sheep- )
want to divide thesg sheep up into groups of equal ls 'ier’
o th? sheep in each group must all be the same €O oh. o
What is the largest number of sheep that can be in eac groups

s3n+4.
tes after it opens?

LI

:he number of cars in a car park » minutes after it opens |
0. How many cars will there be in the car park 20 minu

)
Hf)w many minutes does it take before there ar€ more than 80 cars in the Car p,.
Circle the correct answer. !

A 24 C 26 E 28 .
B 25 D 2% |

15

12. The bathroom tile below has a design consisting of 4 identical white triangjes

&

5cm

g

5 cm?* not to scale

What is the area of the blue part of the tile? Circle the correct answer.
A 10cm? C 34cm’ E . 70cnE
B 30cm? D 40 cm?

/2

Test 30 102 © CGP — not 1o beM
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| ave 10 minutes to do thj
tou " this test. Work as quickly and accurately as you can.

A group of pupils were asked

Their results were displayed i What they drank for breakfast one morning.

N a pie chart.

water

cranberry juice £ ) coffee

F°%?

Eorange juice

apple juice

which drink was the least popular? Circle the correct option.

A Tea o C Cranberry juice E Apple juice
B Orange juice D Coffee

A type of dahlia flower always has eight petals.
There are 80 of these dahlias growing on a roundabout.
All the dahlias on the roundabout are either purple or white.

5. What is the total number of dahlia petals on the roundabout?

(L[]

3. The ratio of purple dahlias to white dahlias on the roundabout is 3:7.

How many purple dahlias are there?

4. 20% of the dahlias on the roundabout were destroyed during some roadworks.

How many dahlias are left on the roundabout? E:I:D

JCGP — not to be photocopied 103 Test 31




ST

Ul
oottt

o a1

B Tahir

6. What is the difference between the smallest and largest amount of piz
Circle the correct answer. . -
A Y G Tl 76
B 1 D */ha

7. Nathaniel is printing a 63-page document. The printgr he’s using.prints he
number of pages each minute. After 8 minutes the printer had printed
How many minutes in total will it take to print the whole document?

8. A card game starts by sharing out 42 cards equally among the players. )
The number of cards each player receives must be a prime number.
What is the minimum possible number of players? Circle the correct a

o S .5 E 21
B 3 D 14

Test 31 104 © CGP — no



o ST ("' .A r 'lll'ﬁ’ w, ‘ . . ‘ .'::7’— v
e R e ST o b T— -l
oatcry contains 100 units of energy. ey 1 T D ~
uses up 1 unit of energy for every metre it travels. o o
e (e ergy for every metre it travels.
“many whole laps of the triangular route can it complete?

The drawing below shows one of Farmer Ben’s fields.

1 cm on the diagram shows a distance of 10 m on the ground.

3 cm X
A 4 l
; 3cm ]
1 1.5cm
v b -
| 5cm -
‘What is the area of the real field? Circle the correct answer.
A 400 m’ C 1200 m? E
B 1000 m? D 1600 m?

105
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S

Ridiculous Receipts ?

roken printer — | eggs
ipt printed out | f1our £ . @2
£Z . 9009

putter
told her that each sy £ . 4@

The shopkeeper
represents a different number. % TOTAL: o Y
— ] =

She paid for her shopping with a £101 | ——
and received £3.85 in change:

How much did the eggs cost?

Lorna’s local shop has a b
all the numbers on her rece
with the wrong symbols.

mbol sugar

Seeing Shapes
n this picture?

The triangles can be any s

Now count all the quadrilaterals — there might be more than you think.

© CGP — nottob
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ftiple of 5, s0
must be a mu
2 (l)numbar of mar blge Go the anewer 1S 295,

whousands' place.

~60 o 5'00 = 60",

£18/
72% iply tap and bottom o 5
5. _ 100,89 m':l;ggning here to work out 18 x 4,

py 4. YU © 4-10x4+Bx4

12 dC:;ny rainfallin Topeswﬁ; is 19 mm,
cte:

it is 7 .
e LC)Z: 12 mm, whichis 1.2 cm.

6.
& expe
o nOudharbo

The difference is

186 mm

7. d daily rain

The eXpece
The expecte
This is-a Aally °

re 271 a2y
2116232 - 186 mm (you can

Fall in Aberfing is 1 4 mm.
A4 daily rainfall in Winderwater (s 8 mm.

) 14 - & =06 mm. .
dlf{er}iﬂjﬁ[? =0 the total difference will be
5, .

use partitioning here).

Be o o, 45° After turning 180° antiglockwise
aes 1{2?”1; East. Afteranother 45°, he will be
he will be T3¢
facing North East.

inutes ‘
2. ‘2255ng — 180 minutes. 5/, of an hour is
3 hours 1o

A5 minutes. 180 + 45 = 225 minutes.

10. 131

Binaate /4
of the pizza. Ré : o
1/, is the same 38 /s and /o

1 1
of the pizza. Seanate 2x Ya= /7
bekaate /a+ 2= /pof the pizza

4
o the same as /g,

2/ 24 N o/
sointotaltheyate /o + /p+ /o= /2

7/. = 1/ of the pizzais left.
Thismeans 1 - /&= /z0fthep

MWXPDE1

11. D
The three glven COMNers ape

shown as dots, so the treasure

will be at the POInt marke4
with a cross,

This has coordinateg (©,4),
12. A

o~ NwA N
i ik i

Test 2 — pages 5.7
1. 73 °C

Toget from-32t0 0, 444 32,
To get from O to 41 , add
Ltemperatures is 32 4. 41

2. 20 m
The perimeter of the g
added together. This |

3. C

The area of the garden is the wig
th -
vertical height, whichis 6 x = 5 'r:l;lltuphed by the

41. Soth,
= 73 oc' & d‘ffefence in

arden is the len
gth
56+445., 4=22‘°:1ilthesues

4. 3 minutes 6 seconds
Use the column method here
times: 58
46
52
+ 50

186
1

to find the total of their

180 seconds is 3 minutes, s
S mihutes 6 seconds.

De E

59.48 miiles is approximatel
of 5 miles'. Thisis the Same
& x & = 64 kilotmetres

0186 S€conds g

Yy 40 miles. which

¢ 158 |
a5 '8 10ts of B kryy' wpe o

i which is

6. 7 weeks 3 days
31 = (4 x7)+ 3,50 37 da
So the total timeis 4 + 3
plus 3 extra days.

Ze C

Each ‘whole face’ represents 4- Sstudents,

There are 12 whole faces, which represent

12 x 4 = 48 students. The two halves make ONE More
face and the quarter and three quarters make another

which represent 2 x 4 = & students. So intota there
are 48 + &= 56 students

Yo is 4 weeks an

d3 da 5
= 7 whole weeks, i

© CGP 2015




— A4~

e e A

Bomw &

in the row for Fly Fly Fly there are 5 whole faces and 1
quarter face, which together represent (5 x 4)+ 1 =21
students. /sof 211821 « 3 =7 boys.

9. 23:05

The train leaves at 2:37 pm. Add 1 hour and 28 minutes
to this time in etages. After 1 hour it will be 10:37 pm.
Another 23 minutes later. it will be 11:00 pm. Finally,
add another 5 minutes, which shows it arrives at

11:05 pm. In 24-hour clock format this is 23.05.

10. C
1/ I6 the same as /15 and /4 is the same as %/, ,,
so the fraction of the time he's used so far is

4on+ a2 ="/12- This means that the fraction left for
Part Bie 1~ "/12="/12.

11. 270 cm?®

The volume of each cube s 5 x 3 x 3 = 27 cm?,

The object is made up of 10 cubes, so the total volume is
10x 27 =270 cm®.

12. 10 cm

If the frame is 27 cm high, then A =27,

5027 = 15w+ 12. Subtract 12 from both sides to
find15=15w. 1.5x 10=15,s0w="10.

This means the width of the frameis 10 cm.

Test 3 — pages 8-10

718 A

0.5 litres = 500 millilitres. So the total volume of the
drink in millilitres is 500 + 35 = 535 ml.

In litres, this is O.535 litres.

2. D

The area of the wallis 12 x 5 = 60 m?.

If 2 boxes of tiles are needed to cover 1 m? then

60 x 2 = 120 boxes would be needed to cover the wall,

3. £14.50

In total she paid 34.50 + 51 = £85.50.

So she received 100 - 85.50 = £14.50 in change.
(You can use partitioning to do this question.)

4. D
Each person needs 240 + 6 = 40 g of flour.
S0 10 people willneed 10 x 40 = 400 g.

5. £11.10

The sum of the five different prices is

10+ 11 +13+ 10+ 11.5=55.50.
£55-5=£11. £0.50+5=£0.10.

So the mean priceis £11 + £0.10=£11.10.

6. 25

7/12 arered, 501 — /15 ="/4 > are not red.
1206060+ 12 =5,

60%/12165 x5 = 25.

MWXPDE1

7 6 hours 55 minutes

The train leaves Newcastle at 10:22.

After 7 hours the time will be 17:22, which
is 5 minutes after the arrival time of 17:17.
So the train must take 5 minutes less than
7 hours, which is & hours 55 minutes.

8. A

To arrive in Feterborough before 7:30 pm, Alf must catch
the 12:33 train from York. He needs to leave his house
42 minutes before this time. 12:00 is 33 minutes
before this time, so Alf needs to leave 9 minutes earlier
than 12:00. Thisis 11:51 am.

9. 66 °F
c=18. Sof=(2x 18) + 30 = 36 + 30 = 66 °F
10. 36

Stack 1 has 1 container.stack2has 1 +2=3
containers, and stack 3 has 1 + 2 + 3 = & containers.
SostackBwillhave 1 +2+3+4+5+6+7+86

= 36 containers.

11. 8 cm?®

The length of one of the cube's sides must be
6 = 3 = 2 cm. So the volume of the cube is
2x2x2=8cm>

12. 0%

It's prime, so it must be an odd number, and it can't be
95, since 95 divides by 5. This means it must be one of
91,98, 97 or 99. It can’t be 93 or 99 since these both
divideby 3 (23 =3 x 31 and 99 = 3 x 33). And 91
divides by 7 (91 = 7 x 13). Soit must be 97.

Puzzles 1 — page 11

A Night on the Tiles
0=1,T=2,P=4,5=3,L=5

a)POST =10, b)PLOTS =15, ¢)SPOOLS =17

Breaking Up is Hard To Do

The smallest number of separate breaks needed is 10.
Test 4 — pages 12-14

15 12 350 mm
To convert metres to millimetres, multiply by 1000.
S0 12.35m=12.35 x 1000 = 12 350 mm,

20 (&

The angle s obtuse, so it must be between 90° and 180°.
This rules out options A, B and E. 170°%is almost

a straight line, and x isnt nearly straight,

so it must be 140°.

3. 23 000 km

22 5856 is closer to 23 000 than 22 000.

So 22 586 km rounded to the nearest thousarid
kilometres is 23 000 km.

© CGP 2015



and find the mean of
B=24,and24+4=6

nbers after subtracting 60 from
means the mean of the original

. £1.20, so after the price increase, the

orsaleat apriceof 12 + 1.2 =£15.20.

. Ois £1.32, s0 after the price decrease,
was for sale at a price of

_1.32=£11.88 (youcanuse partitioning).

9. 30 o . :

The section for 1 sister makes an angle of 20°, which is

'3]; of 360°. This means that the number of people with

1 sieter l6 M4 0F 120, whichis 120 + 4 = 30.

ég: is 1/(6: of 360, s0 '/ 0f 120 people have 3 sisters.
120 - 6 = 20 people. 35 people have no sisters,

e0 there are also 35 people that have two sisters.

5o the difference is 35 - 20=15.

11. £1525
I h = 30, then the price is
(50)(50)-!-25: 1500 + 25 =£1525.

12. 20 hours
1025 = 50h + 25. Subtract 25 from both sides to get
1000 = 50h. So h= 1000 = 50 =100 + 5 = 20 hours.

Test 5 — pages 15-17

7 £ 6.8 cm

The total length of the two known sides is

3.8+ 7.4=11.2 cm. \f the perimeteric 18 cm, then the
third side must have length 18- 11.2=6.& cm.

25 54 000 miles

54 278 is closer to 54 000 than 55 000.

S0 54 278 miles rounded to the nearest thousand miles
| i5 54 000 miles.

Yox10x3=5x3=15
signis2x 15=30cm2.

8. C

The original investment gets m
and thenby 2.5. So at theend.
£135x4x25=£135% 10

9. 14

The number of buses travelling no
49-31-7=11. Sothe totalny
sawis 11 +3=14.

10. A &
The total number of cars was 80 - 14
the number of cars travelling south w:
This means the fraction of the véhlr
travelling south was °%/0, whichis.

11. 25%
Intotal, Ciara saw 15 + 9 = 24 lorries, |
have seen 80 + 9 + 7 = 96 vehicles. so
lorries she saw was 2#/g5, which 5lmplfﬂes
percentage, this is 25%.

12. A j
Whens=10,d=10x("/100x 10+ 1)
=10x("/10+1)=10x(0.1+1)=10

Puzzles 2 — page 18

It Doesn’t Add Up
444 + 44 + 4+ 4 +4 =500
222 +222+22+22+2+2,
333 + 333 - 33 - 35 =600

What's on the Cards? |

91, but upside down (the ca
starts with 1071 and where other
the one before... but all the nun



Test 6 — pages 19-21

1 - 56
Subtract 34 from 90 by using partitioning.
34=30+4. 90-30=60,and 604 - 56,

2e ¢

A tetrahedron and a triangular prism are both 2D
shapes, so they can't have three sides. All the angles
are different, so it can't be an isosceles or equilateral
triangle. So it must be a right-angled triangle.

3. D

Placing the numbers in ascending order you get:
18,71, 184,871,1480, 1784, 4810. There are
seven cards, o the middle one is the fourth one along,
which s 87 1.

4. 850 ml

1/40f 1 litreis 250 ml, 50 '/, of 5 litres is

5x 250 = 1250 ml (you can use partitioning to do
this). You need to subtract 400 from this:
1250~ 400 =850 mi.

5. B

The odd-numbered flats are shown in blue, so look for the

biggest blue bar. This is the bar representing white doors.

6. 245 m

In total there are 7 white doors. If there's one on each
floor then the whole block is 7 x 3.5 m tall.
Tx3=212and7x05=7+2 =35, s0theblockis
21 +3.5=245mtall

7 C

In total there are 12 'Other’ coloured doors.
V/50f12i54,80%/50f 12i52 x 4 = 8 yellow doors.
Add up all the bars to find the total number of doors.
14+ 7 + 10+ 5+ 12 = 48. S0 %45 of the doors
are yellow. This is the same as '/,

8. B

There are 3 x 60 = 180 seconds in 3 minhutes, 5o

3 minutes 24 secondsis 180 + 24 = 204 seconds.
This is approximately 200 seconds, and 77 is
approximately 80. So the motor spins approximately
200 x 80 = 16 000 times, The only answer near this
is B.

9. 50 cm

There are & whole sides in the perimeter,
whichis 5 x & = 40 cm. The two partial sides on
the right must add up to 5, and the two partial
sides on the left must also add up to 5. So the
total perimeteris 40 + 5 + 5 = 50 cm.

10. 175 cm?

Each square's areais 5 x 5 = 25 em®. There are 4
squares shown, which have an area of 4 x 25 = 100 c?.
Three more squares have an area of 3 x 25 = 75 cm?®.

So in total the new shape’s areais 100 + 75 = 175 cm?,

MWXPDE1

11. Week5

InWeek 1 he puts in £50, so in Week 2 he puts in

50 = 2 =£25. In Week 3 he puts in £12.50, in Week
4 he puts in £6.25 and in Week 5 he wants to put in
£3.125. This contains half a penny.

12 A
Selmais x + 5 years old. Karl is twice this, which is
2 x (x + 5), which can be written 2(x + 5).

Test 7 — pages 22-24
1. 4.25m

If @ rope measures 4.3 m to the nearest 0.1 m,
thenitis between 4.25 m and 4.35 m.
So the shortest it could be is 4.25 m.

24 £20.00
25=2+05.8%x2=16,andBx05=8 =2 =4,
S08x25=16+4=£20.

35 G
The distance between (O, O) and Billy is five diagonals,

whichis 5 x 1.4. 10x1.4=14,505 x 1,4 is halfof
this, whichis 14 < 2 = 7 m.

4. (10, 4)
35 I 19 0 O O O
84— g = 4 =100 |
8 B B'ﬁ."ﬁ_;,f:I I
44 C*_Q_,.E
ol S
AT 5|5 | E‘Dl"'; |
04+—— - v T —>
OS2 S O S () S

The distance between (10, 4) and each of the positions
of Ann, Cris and Dai is 3 squares.

5t E

The total pastry mix is 250 + 300 = 550 ¢, So each
pastry case is 550 + 10 = 55 g. Adding 30 g of filling
to each of these gives a mass of 55 + 30 = 85 g.

6. 20

Add up the total number of journeys and divide by the
number of years. 26+ 14 =40,17 + 23=40,50in
total Layla went on 40 + 20 + 40 = 100 journeys.
100 = 5 = 20 jourheys.

B 20

210 is wide enough for 4 squares, as 4 x 50 = 200 mm,
and the 10 mm left overisn't enough to make another.
297 i long enough for 5 squares, as 5 x 50 = 250, and
the 297 ~ 250 = 47 mm isn't enough to make another,
So in total Jaime can make 4 x 5 = 20 squares.
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8. C

There are 3 x 60 = 180 minutes in 3 hours. So 3 hours
40 minutes is 180 + 40 = 220 minutes. 1 0% of this s
220+ 10 = 22 minutes, so Liza ran itin

% hours 40 mins + 22 mins

- 3 hours 40 mins + 20 mins + 2 minutes

= 4 hours 2 minutes.

9. 1
The first shape has 1 obtuse angle, the second also has

1. the third has 2, the fourth has none and the fifth has
4. Sp the most common number of obtuse angles is 1.

10. 16
1/.50f 521652+ 13=4. '/50f 361536 +3="12.

So in total there are 4 + 12= 106 keys missing.

& L €

There are 52 — 4 = 48 white keys remaining, and

36 - 12 = 24 black keys remaining. So there are

48 + 24 = 72 keys remaining. So 24/72 of the remaining
keys are black. This is the same as /s,

127 5 C
The price of x white keys is 3 x x, or 3x, and the price of y
black keys is 2 x y, or 2y. Soin total they cost 3x + 2y.

Test 8 — pages 25-27

i 2:56 pm

16 minutes before 3:16 pmis 3:00 pm. 20 - 16 =4,
50 you still need to subtract 4 minutes, 4 minutes
before 3:00 pmis 2:56 pm.

2, B

The smallest unit value is 5, so rule out options A and D.
In the remaining three options, the smallest tenths value
is 8, so rule out option E. In options B and C, the smallest
hundredths value is O, s0 the answer is Juniperville.

Be 12.3 km

it's 6.5 km from Cane to Pubbley, and 5.6 km from
Pubbley to Grey Fond Green. So in total the distance
between the two is 6.5 + 5.8 = 12.5 km (you car use
partitioning here).

4. £7.50

4384 gis the same as 4.564 kg, so rounding it up to
the next whole kilogram gives 5 kg. £1.50 x5 =£7.50
(use partitioning here).

5 25 km

Reading off the graph you can see that their total
distance was 75 km. Divide this by the number of days.
75 =3 =25km.

6. B

The downhill section starts after 45 km and ends at
75 km,soitis 75 - 45 = 30 km long. They are walking
at 3 km/h, so it takes them 30 = 3 = 10 hours.

MWXPDE1 6

78 C
Each member has 2

photos of ‘
i54 x 2 = & photos, Sp 12 ejsu:i them, which
of the whole band. So “'/1 2 0f the ph h
the whole band, which is the SaMeZsO%}S a

&

8. 65 cm?

The total area of 3 circles is3
are two overlaps, each with an
of the figure is 75 - 5 - 5=6

9. A
It doesn't matterin which ord
turns. Intotal she turned 1
and 90° anticlockwise. This
90° clockwise. 90° clockwis

10. Week 4
In Week 1 she has 15 cars, 15~-5
10 x 2 = 20, 50 in Week 2 she has
20-2=15and 15 %2 =30cars. For W,

30 -5=25, and 25x2=50cars e <
50 is more than 40, so it's in Week 4

11. D

If he starts off with 10 and sells 5 he hag
10-5 =5 cars, Doubling his stock gives
5 x 2 =10 cars. So he will always haye
10 cars at the start of each week,

12. A
A 10 em cube has volume 10%x 10 %
Each 2 cm cube cut off has volu
me2x2 _
There are & corners on a cube, so the corans:jncms.
oved

have a total volume of & x & = 64 cm®
1000 - 64 = 936 cmP. '

re of

x25= 75 cme

me,
area of 5 gz sfut there
5cm2‘ thaarea

er Kayleigh may,

es th
©0+30= 1 80¢ clo:;ke
comes out to 180 _ ew'se
& ﬁ"Om Nomh is East 0=

=10, an4

20 cars, For Week .

10=1000 ¢z

Puzzles 3 — page 28

Pipe Dreams
E.a.

Chocolate

T

ICquw]

Carame}

Yes —e.g re
Chocolate Caramel

No, it can't be done.
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Test 9 — pages 29-31

il 96 litres

There are 24 hoursin a day, so there are

2 x 24 = 48 hours in two days. Two litres drip every
hour, which in total gives 2 x 48 = 96 litres,

2. 8
Add up the number of fights and divide by the number of
months. 4+9+8+11=32. 32+4=8,

3. D
65 mm is the same as 6.5 cm.
6.5+ 11.7 = 16.2 cm (use partitioning here).

4. £9.00

It costs 1p to make each dummy, so it costs 100p =
£1 to make a pack of 100 dummies. They are sold for
£10. so each pack makes a profit of 10 -1 = £9.

5. 10 km

He has to make 12 ~ 4 = 3 trips to move all of his
belongings. So he needs to go to the new house

% times, but he only needs to come back to his
old house twice in between, making a total of 5
trips. So he has to travel 5 x 2 km=10km.

6. £14.00

The reduced price is 100 — 65 = 35% of the full price.
10% of £40 i5 £4.50 50%i5 4 x 3=£12,and 5% is
4+-2=£2 S035%is12+2=£14.

Z 88 seconds

Lighthouse A will shine on B every 11 seconds, so it will
always be a multiple of 11. Similarly, Lighthouse B will
shine on A on multiples of 8. So they will shine on each
other on multiples of both & and 11. The next one will be
after & x 11 =88 seconds.

8. A
6 squares left of Lighthouse B is (2. 4).
2 squares down from thereis (2, 2).

9. 20

The first path splits into 2 paths. Each of these splite
into 5, so thereare 2 x 5 = 10 paths. Each of these
paths splits again into 2 paths, so there are

2 % 10 =20 paths and 20 end places.

10. 30

3 cubes go into the width of the box completely, because
3 x 10 = 30, which |5 less than 35. 5 cubes go into the
length of the box, because 5 x 10 = 50, 2 cubes go into
the height of the box completely, because 2 x 10 = 20,
which is less than 25, Sointotal 3 x5 x 2 =

3 x 10= 30 cubes go into the box completely.

1. A

There are © extra cubes in the box and the mass
i5 750 - 150 = 600 g more. So each cube has
amass of 600 + 6 = 100 g. One cube and the
box weigh 150 g, 50 the box weighs 50 g,

MWXPDE1

20% |5 the same as /5. Sharing /s between three

the same as dividing by 3. /s +3="/1s.
Test 10 — pages 32-34

1. C
5 jam tarts cost 5 x 25 = 125p. £2 Is the same a5

200p, s0 200p — 125p = 75p.

22 5
You can make £36.50 from a £20 note, 2 £10 note,

a £5 note, a £1 coin and a 50p coin. This is 5 in total.

3. 150°

The angles in a quadrilateral add up to 360°.

The three known angles add up to 3 x 70 = 210"
360 -210=150".

4. 88 ounces
5 x 16 = 80 (you can use partitioning if you need).
80+ 8=288.

5. E

25th July is a Saturday and there are 371 days in
July. So counting on you get that 1st August is also
a Saturday. So the 8th August and 15th August
are Saturdays. The 14th August is the day before
Saturday, so it is a Friday.

6. 11

The new shape on the left has one more face than the
original cube, so it has © + 1 = 7 faces. The new shape
on the right has 4 faces, so in total there are

7 +4 =11 faces.

7/ B

Her smallest catchis /5 of 42, whichis 42 < 6 = 7 cm.
Her biggest catchis 42 + & = 50 ¢m, so the difference
between the two is 50 - 7 = 43 cm.

8. D

Add up the bars to find the total number of houses on
sale:2 + 7+ 3+ 2 + 4 =186 houses. The number of
houses under £200 000 s 2 + 7 = 9 houses. So they
can afford 9/ of the houses, which is the same as /5.

9. 9
On each day she adds two more tiles than the day before.
On Day 4 she adds 7 tiles, so on Day 5 she adds
7 + 2 = 9tiles,

10. D

On each day the number of tiles is the Day number
multiplied by itself. So on Day 10 there are

10 x 10 = 100 tiles.

11. 13

Abigets 9 x 10 = 80° and Elvera gets 14 x 10 =
140°. The angles round a point add up to 360, so Tina
gets 360 - 90 - 140 = 130" of cake. Thisis her age
multiplied by 10, so Tinais 130 = 10 = 13 years old.
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12. 17 and 19

They live at odd numbers next to each other that are
both prime. The only options that add up to a number
less than 50 are: D and 5,5 and 7, 11 and 13, 17 and
19. Out of these the only pair that add up 1o a square
numberis 17 + 19 = 36, so these must be their house

numbers
Puzzles 4 — page 35

T, Cut

Fake or Fortune?
The vase on the right could be fake — the year MXCXI

isn't a real Roman numeral.

Test 11 — pages 36-38

1. 168

21 breaks downinto 20 + 1. 20 x & = 160 and
1%x8=85021x8=160+8 =168 pencils.

2, 30°

The angles in a quadrilateral add up to 360",

135° + 135° + 60° = 230° (you can use the column
method here). Subtracting this from 360° gives

360°-330°=30".
3. A

Putting the measurements in order gives:
23.04,2699 2867 g9 37.63,42.7 g. Thereare 5
values, so the third is the middle value, which is 28.7 g.

4. 30g

Find the total for all 7 days and divide by 7.
160 +26+24=210g. 21+7=3.,50
210+ 7 =320g.

5. 45.40 m
A pentagon has five sides. 9.08 x 5 breaks down into
O9x5+008x5=45+0.4=454m.

6. £70
14 salads cost 20— 6 = £14, s0 each salad cost £1.
70 salads cost 70 x 1 = £70.

74 D

MMXill = 2013

The first series was made in 2013 - & = 2005.
2005 is MMY in Roman numerals,

MWXPDE1

The lines meet: at PoInt. (5, 3)

2 s 750 cm?
Each book has a vol
- u
0.5 x20%25 = 10

5is 2
o : 90 o= 7500};,3
3 boxes of x SWEELS gives 3x. My |

bag, so you have to Subtrace w‘:ﬁc%t? %%55
1. 10 e

100 -40 - 20 = 407

3 o AOftheSw
10%0f25i5 2.5, 0 40% of 25?:?;”“” .
12. D PX4=10

,:dding up the prime Numbers

2+353+54+7+11 4 13=4

i517.and 41 + 17 =55 . e Nl
=58 whi Prime

she only has 50 marbles iCh che Can't makeb'%

Upto
1.

Test 12 — pa

ges 394
1. 12 000 1
The volcano erupted 11

98
to the nearest 1 00 so | 2 years 90, You're

ook attheten& 8is

g

9, s0 round up. b‘%&'ﬂm
2. 9 m?
The sail is a triangle, so

% ts i
1/3x6x5=3x5=9m2.area'5
33 £15.00
The smaller sall is "/ th

3 the area of
sothecostis 45 = 3 =515 thela"gerom,
4, D
The number of snails decrea

ses by 2 There

were 15 on Thursday, 50 there :zre ‘Tgc: dayFﬁ;ga‘,’, s
on Saturday. ! sl

5. A
The total length of the shelves is 0.
1000 mm,s0 2.4 m= 2.4 x 100

6. 33

Avahas 11 x 9 = 99 t-shirts in total, 99<3=-33
(You can use partitioning here). :

7 D !

Use estimating here — round £11.20 downto £10 2
: o £10
3866 m up to 400, Then 10 % 400 = £4000, T

only answer close to thatis D. - -

5X5=24m 1
= ‘m
O=2400mm c
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8. D

Add together the fractions :)f pop and rap songs,
and subtract from 1. Vo= % mand Ve =2/ 1s
B/rg+ Vas =/ 1=15="/150f the playliet.

9. 8
The ‘other’ segment on the pie chart represents a

quarter of the faople Chris asked
40w 4= 10. /50ffrh’5f6 10«5 = 2. 80

‘/5=2x4=8.

10. 40%
Together the ‘walk' and ‘car’ segments make up half the
ie chart, and half is the same as 50%. 4 pupils is 10%

of 40,6050~ 10 = 40% arrived by car

11, €
Go through each option. 40 isn't a multiple of 3, so you

can rule out:option A. 27, 16 and 45 are odd numbers,
s0 can't be divided by 4, 50 you can rule out options B,
D and E. 60 can be divided by all four numbers, so the

anewer is C.

12. B
35p = £0.35. Pavel earns £0.55 for each dish and

washes d dishes, which gives 0.35d. He earns 1.75 when
he starts, so in total he earns 1.75 + 0.35d.

Test 13 — pages 42-44

1. D

The 5 is in the hundred thousands colunin, so it
represents five hundred thousand.

2. 3 years

31 536 000 seconds i approximately 30 000 000,
50 you need to work out how many go into

100 000 000. Thisis the same as working out how
many 30s go into 100. The answer is 3.

3. 2:3
Majahas 5 + 3 =5shirteand 9 + 3="1 2 jumpers.
So the ratio of shirts to jumpers is &: 12, which is the

same as 2: 9.

4. E
The angle between the page and the line is less than 90,
50 you can rule out answers A, B, C and D, leaving only E.

35 12 minutes

The first journey is & minutes long, the second is

9 minutes, the third is 5 minutes and the fourthis
12 minutes long. So the longest s 12 minutes.

6. 11 minutes
Add up the time each journey takes and divide by
the number of journeys. 10+ 12 + 9+ 13 = 44.
44 -~ 4 = 171 minutes.

/2 C
3 litres paints 24.6 m?, so 300 litres paints 2460 m?.

150 is half 300, so divide by 2. 2460 + 2 = 1230 m*

MWXPDET

8. 380 cm’ s
Eachtile has avolumeof 5 x4 x05=5x2= 10 cnr
In total there are 25 + 13 = 38 tiles, 50 the volume of

the pile Is 38 x 10 =380 cm®

9, 400

The coin landed heads 480 + 6 times.

48 - G =8,50480 = 6 = BO. Soitlanded
talle 480 - 80 = 400 times

10. C

The areaof thelawnis /s x 16 x 21 =8 x 21 = 168 m*
(use partitioning here). One tub fertilises 30 m* of lawn,
50 use partitioning to divide 168 by 30.

168 = 150 + 18. So for 150 m?, 150 ~ 30 = 5 tubs
are needed. This leaves 18 m? remaining,

s0 1 more tub is needed. 5 + 1 = 6 tubs are required.

11. B

On Monday Char thought of —2. On Tuesday her number
was —2 x 3 =-6. OnWednesday it was -6 x5 =-18
and on Thursday it was — 18 x 3 = -54, which is

less than —40.

23 80

The number of boys in the yearis 240 ~ 3 = 80.

1/, of 80 is 80 = 4 = 20, s0 20 boys have green eyes.
There are 240 — 80 = 160 girls, and the number of girls
with green eyes is /p x 160. /s of 16015

160 + 8 = 20, 50 /5 is 20 x 3 = 60. So the total
number of children with green eyes as 20 + 60 = 80.

Puzzles 5 — page 45

Abracadabra?
wlr[z]alr]|D
RIDIAIW|Z|1I
DlZ|R|I|A|W
I|A|D|R|W|Z
z|r|wlp|r[a
Alwlr|z|D RJ

Test 14 — pages 46-48

1 185

15 more pupils took the red ferry on the way back than
the way there. So 15 fewer pupils must have took the
blue ferry on the way back. This gives 200 — 15 = 155.

P D

On the first day she has 20 stickers. Onthe second
day, she has 20 — 3 = 17 stickers. On the third day
she has 17 — 3 = 14. On the fourth day she has

14 -3=11. Onthefifthdayshehas11-3=86
stickers. This is fewer than 10, so the answer Is D.

3. 7.00 °C
The highest value is 4.20 °C and the lowest is -2.80 °C.

This gives 4.20 — (-2.80) =4.20 + 2.80 =7 °C.
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4. A
Writing out the
292 345 42
, 36 m
i heptagon has 7 sldee, so divide the perimeter by =

A 42
Use partitioning: 252 = 210+
502%2*7-210*74'42*7-

6. 102 cm’
Eachblockls 2 x 1Tx 5= & cm?® The total volume is

Gx17=6x%x 10+6x7=B60+42= 102 cm®,

7. 4 :
To find the missing bar. add up the bars that Elodie

drew and subtract from the number of pupils.
54+7+8+6+7+8=41, 45 - 41 =4,

8. A
The car travelled 541 % 8. 76 miles. Roundi

the nearest 10 gives 50 x 10 = 500 miles.

The nearest answer is A.

9. E .
48 + B = 6, 50 Martha needs to divide all her quantities
by 6 to make & cakes. For £93s. this gives 36 -6 =6
edgs. Forflour. 18+6 = 3 kg of flour:

10. £44.80
48 + 3 = 16, 50 Martha made 0.80 x 16=£12.80

from /s of the cakes. 48~ 16 =32 cakes, 50 Martha
made 32 x 1 = £32 from the rest of the cakes. Soin
total she made 12.80 + 32 = £44.80.

11. D

n s multiplied by 3, giving 3n. Then 3 is subtracted from
3n, giving 2n — 3.

12. 13
Bn -3 gives 36, 50 36 Is B less than 3n. So 3nis 39.

The number that you multiply by 3 to get 29is 13.

valuas in order gives: =2 B0, ~1.96,
0. The fourth value In this list s 343 C.

B0 + 6 = 36.

ng these to

Test 15 — pages 49-51

i 2 hours 16 minutes

There are 2 minutes between 123:58 and 14:00, then
there are 2 hours between 14.:00 and 16:00 and

14 minutes between 16:00 and 16:14. So the total
Journey timeis 2 hours and 14 + 2 = 16 minutes.

2. 0.30 m
The number in the thousandths column is less than & so
round down. (0.3 and 0.300 are both wrong, since you're

asked to round to the nearest hundredth.)

3 B

Ben scared %/ goals. You can divide top and bottom
of the fraction by 7 to give %/a.

4. C

10% of 800 i5 80 g, 50 50% 5 8O x 3 = 240 g. This
gives the weight of the rabbit as 800 + 240 = 1040 g,
which is the same as 1.04 kg.

MWXPDE1
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5. A

3800 tickets Is 20 times larger than 180
5othcamuntafmonaythcclmm5ddwﬂdra¢
foris 1330 x 20 = £26 600, ickety
6. 411 m?

The rectangular stage has area 1Ox53-:530m;
The square stage has area O x 9 = 817 2 ‘

areais 330+ 81 =411 mz(““Wcoh;::ww
4 4, 7) > . )
Foint zis at (9, ©). 10 L9
lt moves S squaresleft g o =
to (4. 9). then 2 squares z i
down to (4. 7). ————a 67 :

44 RE

2 S o

00 5 ;
8.  160° o

There are 560" around a point, so

together the amount of pie ms:‘;uann:;d:;‘:dd
Do this in stages: 51 + 51 = 102, S
102 +38=140. 140 +60=200
50theamountofpieleﬁ:is560~200=160_

9. 16

1/6301‘42 I542+6=7. /130 39is39+ 133

$0%/13 163 % 3 = 9. S0 Gerald ends upwih o | o
plants. FHTSiaie

10. E

In total Gerald planted 42 + 39 = 81 seeds. 16
started 1o grow, so the fraction of seeds - actually
grewis "%/, R "

11. 7200

Gerald needs 1200 carrot plants, and '/, of the
eeeds he plants will grow into carrot plants. S Gera
needs to plant 1200 x G seeds. 12 x 5= 72 so 4
1200 x 6 = 7200 seeds. '

12. C
There are & right-angled decking triangles,

. 50 there were
3 equares of decking. The combined area of the decking
i5 27 m?, 50 each square has an area of 27 - 3 - a 29
5 x 3 =9, 50 each side is 3 m long, &

Puzzles 6 — page 52
Daylight Robbery

He can buy 3 cereal bars.

How Old Are You Now?
Alice and Ben are both 10 years old.
Carinais & years old.
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Test 16 — pages 53-55

1. B
The plate hae 6 + 2 = & sides, which makes it an octagon.
2 3

1'2 x 6= 72,950 there are 75 - 72 = 3 sweets left over.

3. 150 cm

The two Squares make a rectangle with two 25 cm sides
and two 25 4 25 = 50 om sides. This gives a perimeter
of 25+ 25+ 50 +50=150¢cm.

4. B
Convert all the masses to the same units. 0.45 kg is

the same 35 450 g and 0.9 kgis the same as 200 g.
Arranging the weights in order gives 300 9,450 g,
50049, 9004, 1 200 a. So the mayo is second from the

left.
5. A
2 4+ 7 = 9, s0 the total number of ‘parts'in the ratiois 9.

36 ~ O = 4, 50 each 'part’ Is 4 pencils. Gavin's pens make
up 2 ’partﬁ»'. So the number of pensis 2 x 4 = 8.

6. C
Karen won 2 /45 of her matches. Dividing the top and

bottom numbers of the fraction by 9 gives s,

v/l 139.7 cm?
The area of the line is 0.1397 x 1000 = 139.7 cm=.

8. 8

Find how many bowla can be made with 1 kg. 120 = 30
is the same as 12 = 3 (you can cancel the zeros), so the
potter canmake 12 + 3 =4 bowls with each kilogram.
So with 2.2 kg of clay the potter canmake 4 x 2.2 =886
bowls (you can use partitioning to work this out) which is

& complete bowls.

9. D
Rouhd 2100 m down to 2000 m. 2000 m = 2 km.

Round 365 up to 400. So 2100 m x 365 is
approximately 2 km x 400 = 800 km.
The nearest anawer s D,

10. 2520 m
10%0f 2100 mis 210 m, s0 20%1s 2% 210 = 420 m.

2100 +420=2520m,

11. 8000

In the fourth week they sold 1000 copies, so inthe
third week they sold 1000 x 2 = 2000 copies, in the
second week they sold 2000 x 2 = 4000 copies and in
the first week they sold 4000 x 2 = 8000 copies.

2. G

Inthe first week they sold 1000 copies. In the second
week they sold 2 x 1000 + 500 = 2500 coples.

In the third week they sold 2 x 2500 + 500 = 5500.

In the fourth week they sold 2 x 5500.+ 500 = 11 500
copies. This is over 7000.

MWXPDE1
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Test 17 — pages 56-58

1. £207 058
Whriting the value in figures gives 207 058.

28 E
Faul has read 421 — 414 = 7 pages fewer than Mandy.

50 he has 7 more pages to read. 389 + 7 = 326 pages
to go.

3. D
1000 ml = 1 litre, 50 the ratio of orange juice to water is
1:1.5. Doubling each number in the ratioc gives 2.: 3.

4. 2.95 litres

1000 ml = 1 litre and 450 ml = 0.45 litres, 50

the total amount of juice drink Quentin makes is

1+ 045+ 1.5 = 2.85 litres (you can use the column
method to work this out).

5. E
The perimeter of the three buildings is
10+4+10+6+4+10+4+10+6+4 =65m,

6. 360 m?
Each bullding has a volume of
10 x4 %3 =10% 12 =120 m> Thereare 3 buildirigs.

s0 the total volume is 3 x 120 = 360 m®.
Zie (13, 4)

Foint P is five squares away from the mirror line, so its
reflection will also be five squares the other side of the
mirror line. Thisis (13, 4).

8. 15 mm
127 - 112 = 15 mm (you can use the column method).
9. &

112+ 127 + 112 + 126 = 464 (you canuse the
column method here). There are four readings, so the
mean is 484 = 4= 121 mm (you ¢an use partitioning).

10. 18 m?
The areaof the wallis 3 x 12 = 36 m?, so half of this is

36+ 2 =16m".

11. A

The area of the wallis 3 x 12 = 36 m?. 1 roll of wallpaper
covers 3.1 m?, 5o 10 rolls cover 31 m?, 11 rolls cover
31 + 3,1 =34.1 m? and 12 rolls cover 34.1 + 3.1

= 37.2 m?. SoHarry needs 12 rolls of wallpaper.

12, 17°

The chair makes a triangle with the floor so its angles
add upto 180°. The two angles given add up to

90 + 41=131° so the third angle is 180 - 131 =49°
(you can use partitioning). Angles on a straight line add
upto 180° sox+ 114+ 49 =180. 114+ 49= 163,
sox = 180~ 163 = 17° (use partitioning again).
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Test 18 — pages 59-61
1. 16
96 « 6w 16 (you can usa partitioning here)

2, B
19 crmand 189 mm are too amall for a car 19 mand

019 km (» 190 m) are too large. S0 tha only remaining
optionis (8 1.9m,

3, A

G2 xBinthosamaas GOXx 3+ 2x 3 Gx 3= 18 00
COXD w180 G062 xA3=180+2x3« 186

4. 27

21 days is 3 weeks, S0 vhe factory can make
S x Q= 27 enginea

5. D

You don't: need to triple the whole number — just

the hundredthe column and columna to the right.

25 x 3 = 75, 80 the number In the hundredthe column
s 7,

b. 44%
Tanviwon ' /pn games. Multiplying both numbers by 4
gives **/, on, which 16 the same as 44%

7 i B

Maria's total number of points scored (& her mean score
multiplied by the number of games she played.

This i 171 x 25, which |s the same as

10%x 25 + 1 x 25 = 250 + 25w 275,

8. 55 m?

The area of the large panel 18 5 x 5 = 25 m*, Each
smaller panel has an area of 2 x 5 = 10 m¥, so the total
areals 25+ 10x 3 = 25 + 30 = 55 m*,

9. ¢

Round £23 092 down to £20 000 and 387 up to
400. S0 23092 + 387 s approximately 20 000 +
400 = £50, 8o C ls the closest answer,

10. 6.7
P 5
g“v“ g I O O 5
80 = ==
N T 1) Wt S ¥ S P, o] ) 51 € i S O
§ B o | O
209+ - = o - G N |51
ol M
co L 3 4 5

Northern francs
Reading along from 60 Southern pounds and down from
the line gives around 6.7 Northern france (allow 6.6-6.9),

MWXPDE1
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1, A

200 = 2 x 100, 80 une the graph to work out the l
number of Southern pounds Kadek would receive for .
2 Northern france, then multiply the answer by 100,

From the graph, 2 Northam france seworth
18 Southern pounds, wmmﬁmv
worth 18 x 100 = 1800 Southern pounds.

12, 72m?

5 livren of paint covers 15 m, 60 1 litre covere

15+ 5=3m’ 12 tube containg 12 x 2 = 24 litres,
80 12 tubs could cover 12 x 3« 72 m*,

i

Puzzles 7 — page 62 )

Buried Treasure _
Cross off all the squares that the treasure
{sn't under — the only square left e 51,

Test 19 — pages 63-65

1. E

Convert to ml then find the largest number.

1.3 litres = 1300 mh, and 0.62 litres « 820 ml.
S0 the largest value ls 1600 ml.

2. 630
1000 = 370 = 630 did not say they enjoyed swimming

same as 74%.

4. E
Oliver has 2 x 52 = G4 sweets in total ' 0f64 s
G4 + & = B sweets, i

5. 545
B x 7 = 56,80 80 x 7 = 560, 15 socke
the total number of working sockets is

6. 130 m
The perimeter is 45 + 20 + 45 + 20 = 13
7. 900 m*

Area of parallelogram = base x height,
second playing field is 45 x 20, 45 x|
4‘5 x 20 = Qoomg«



8. 7200

1 call I received every second, 50 60 calls are received
every minute. There are 60 minutes in an hour.

6 x 6 =30, 90 60 x 60 = 3600 calls per hour:

in two hours, 2 x 3600 = 7200 calls are recelved.

9. B

Round 4.8 up to 5 and 365 up to 400.

4.6 x 3065 Is about 5 x 400 = 2000 days old.
1753 days Is the closest option.

10. D

There are 360° around a point. The roundabout has
swung 60% of the way around, so there is

100 - 60 = 40% left. 10% of 360 s 360 + 10 = 36°,
so there are 36 x 4 = 144° left (use partitioning here).

ik 71

Tara's number increases by 1 less each time. Her second
numberis & larger than 41, her third is 7 larger than

49 and her fourth is & larger than 56, giving 62. So her
fifth number will be 5 larger than 62, giving 62 + 5 = 67,
and her sixth number will be 4 larger than 67, giving

67 +4="71.

2. E

Subtract £1.50 from £3.50 to get the amount

of Nina's fare that depended on distance travelled.
3.50 ~1.50 = £2.00. It costs 50p per km, and there
are 4 lots of 50p in £2, so she travelled 4 km.

Test 20 — pages 66-68
1. D

There are 70 - 20 = 50 home shirts, s0 °%/5,, of the
football shirts are home shirts, which is the same as °/.

2 A
4 x 9 = 36, so0 the line of tables is 4 x 80 = 360 cm
long, which i= the same as 3.6 m.

3. 420 m
You're rounding to the nearest 10, so lock at: the units.
There's a 5 in the units, so round up.

4. 27 ecm?
IxB5xB3=0x3=27 cm®

5. 390 minutes
Brian spends 65 x 6 =60 x 6+ 5 x 6= 360 + 30 =
390 minutes on his art project.

6. 2 hours, 5 minutes

The big hand is pointing at IV (= 4), so0 it's twenty-past
the hour. The little hand is just after X (= 10), soit's
twenty past ten. 10:20 is 2 hours and five minutes way
from 12:25.

7P 81 litres
1 litre of squash makes & + 1 = 2 litres of drink,
so 9 livres of squash makes 9 x 9 =81 litres.

MWXPDE1
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8. B

The highest positions in the league are lowest o the
vertical axis, so it looks like the team were highest in the
league when they had done the least amount of training.
They were actually lowest: in the league when they had

done the least amount of training and higher when they
had done more training,

9. <

Work backwards through Becky's steps. 21 + 2 = 23,

Doubling 23 gives 46, Subtract 3 from 46 to get her
original number, 43.

10. B

Two bunches feeds & monkeys, 5o 1 bunch feeds
3 monkeys. To feed 15 monkeys, the zoo needs
15 + 3 = 5 bunches of bananas.

11.  £10.50
The two tickets come to 9 + 5 = £14.
75% s the same as 3/4, 50 first work out

4ot £14, Thisie 14 = 4 = £3.50. Now subtract
from£14 toget 14-3.5=£1050.

12. D

If £75 000 is 75% of the total ticket sales, then the
total ticket sales is £100 000. The cost of a adult
tickets is 9a, and the cost of ¢ children's tickets is He.

50 these must add to give £100 000. So the formulais
9a + 5¢ = 100 000.

Puzzles 8 — page 69

Knights of the Chess Board

The chessboard decodes to: “Lancelot has
more swords than Guinevere but he has fewer
than Arthur’”, So inorder from most to least
swords, they go: Arthur, Lancelot, Guinevere.

Test 21 — pages 70-72

a1 C

You can use partitioning to divide 189 by 9: 183 I the
sameas 180+ 9. 180 +-92=20,and9+9 =1,

50 he can make 20 + 1 = 271 bunches.

2. 6 hours, 4 minutes

Add together the hours: 2 + 3 =5 hours. Then add
together the minutes: 14 + 50 = 64 minutes, which is
the same as 1 hour 4 minutes. Soin total he ran

5 hours + 1 hour 4 minutes, which is @ hours 4 minutes.

3. 600 ml

The blender makes 200 ml with & apples. Divide this

by 3: it makes 900 = 3 = 300 miwith & + 3 = 2 apples.
Then multiply by 2: the blender makes 300 x 2 = GO0 m|
of juice with 2 x 2 = 4 apples.

4, D
24-4=20. '/40f20i820+4=5. 20-5=15.
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B £15.00
1 hour 40 minutes is 60 + 40 = 100 minutes, So it
coste 15 x 100 = 1500p, which Is the same as £15.

6. E
After moving, Tara and Fetr's counters are now here:
A T
8 @
ks o
6- &
4
F
Q
2,. p—
(0} >
0] 2 4 6 8 ¥

There are 7 grid squares between them.

e 24 cm?
12 % 7 = 84 cm? and 10 x 6 = 60 cm?, s0 the
difference is 84 - 60 = 24 cm”.

8. D

0.9 cmis the same as 9 mm. Thisis the
thickness of 100 sticky notes, so each
oneis 9 + 100 = 0.02 mm thick.

9, 40
Vsof 481648 « 6=8. 50°/gof 4Bis & x 5 =40.
10. C

There are 360° round a peint and 60 minutes in an hour.
s0 each minute the hand moves 360 + 60 = &° (you can
cancel the zeros here).

11.  3:30

Each hour is an angle of 360 ~ 12 = 30°. Sofind

75 +30. 75+3=25,8075+30=25+10=25.
So the hour hand must be two and a half hours away
from the minute hand. it's anticlockwise so it's before
the minute hand. So the hour hand is halfway between
the 3 and the 4 — the time is 3:50.

12,k

In Week 1 she has 2 teapots. She sells one and buys
three, soin Week 2 she has 2 - 1 + 3 = 4 teapots.

In Week 3 she has 4 — 1 + 3 = & teapots, in Week 4 she
has & ~ 1 + 3 = & teapots. So the number of teapots is
always double the Week number. S0 on Week n she has
2n teapots,

Test 22 — pages 73-75

. D

You're rounding to the nearest thousand pounds, so look
at the hundreds digit, which is 4. This is less than 5, so
round the thousands down to £17 000.

MWXPDE1
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9m
72#8.9.50742-5-079

3. B

are purple m /4 the
‘11- 22
/2‘5"0“"'61/4-50%&22:« 11
5. 12 ™22 Ve toypte
There are & edges on 4
thereare 2 x 8= 16 b‘&edm
are stuck together, 4 of T, By
thereare 16 -4 =12 ?WM:W

€482 on an
6. 28 OFFabedron,

. To

you can cancel some zer, Dde 32006,
3532 +8B=4. Sothe 05:;“3200‘&00“&%,
whichis 4 x 7 =28 ‘"54lotsof500“"‘°

7. £27.65
£35.95155pless than £4 S0

- 90 £3
£4x 7 -5px 7, whichis 528-3?5:2257% Sathe ag
8. 50° £
The bunting is an isosceles
angles of size 65°, which m‘ 'Eato' ‘9’:- Sotherca'cm
ERGOLIES, T‘“ea"elesmatﬁangieazz
soanglexis 180~ 130 =50 Uptoisgs

< &

One triangle and one Space have a width of

20+ 10=30cm. S0 10 trianal
50 x 10.= 300 crm wide, whicha 3 oy Facesaee

m. = -
5othereare5lobsof1omngbsm1;5 S5x3,
WhiChi55X1O=50Warlgles, L

10. C

Break 11.5 into chunks: 115 =10 &
:11.5= 1 ‘

S0 the boat travels 36 x 1 1.5.wmcms+05'

28x10+38%x1+3B%x05~

380+ 386+ 19 =437 km.

11. D

The mezn time it took Greta over five days was 25
minutes, 50 the total of all the times is 5 x 26 = 130
minutes (you can use partitioning). The total time for
Monday to Thurseday is 23 + 28 + 22 + 20 )
=23+50+30=28+80=103.

So on Friday it took Greta 130 ~ 103 = 27 minutes

12. £30.20
Replace n with 50 in the formula: 60 x50 + 20=
3000 + 20 = 3020p. This i the same as £30.20.

The same a2




Test 23 — pages 76-78 S el - o=t N -

1. 777437 miles Setaeer the Trst Second amy' s ChangS Ty S
25d The Ta MUITDeTS ToGEtReT — < : _AL:.: —p e ARy Lnihg oo ;Lf_ PR
.::_{:—f e e — AT T - = -’ .« o B 1 :" 1S i .— - =L
77743 12. B
2 20 cm he rotated < Ik Ths
Trere are 10 Slides 0 Toms Shape. G LATh SGS € o
3 A 3 Sar stars
-‘-.;- ok 5 1 2 IO xS 512=3 = 12 2 heme
'_1_“_'-- ‘,_- =5 - _‘_: = -; 2=z ENEN] 1
s0J12+-6=30+=22 53 -3 26¢ 2 3 3 5§
o, |
<. B : =
anceled down € — 2~ resninen & o ) A
3. 10.5m the Z g *pare (-2 -2
#istances. 10+3 ¢ 14+ 15=42m 42+-4=105r Puzzles 9 — page 79
L apdand o DS Crossnumbersearch
6. 20 cm The rusmber that doesn's fvis 41 803
l-. A > - l ‘.
<y fnc ™
20 x T = 280 Test 24 — pages 80-82
9 55.8 litres 1. E
R SO e i ey x e
10. 90 davs the an
Bl I P 3. 14
50 IT takes 100 - = 20 dave to make 162 e £ aR .
4. 13

)
0

4}
0
(45
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5. B

188 18 2 x 94, and the propeller-driven plane files at
half the speed of the Jet plane. Soin 1886 minutes, the
propefier-driven planes fly 850 + 2 x 2 = 850 miles.

6. 1100 cm’

The volume of a prism s the cross-section multiplied by
the length. The cross-section s 171 cm® and the length
is 100 cm, so the volumels 11 x 100 = 1100 ¢m?

7 88 cm?
The area of the end face of one arris rail {s 11 cm?, so the

areaofBisBx 11 =88cm~

8. 1500

60 =3 x 20, s0 there are twenty times more e4as
In 60 egqg boxes than in B egg boxes.

So the number of eags In 60 boxes |5 20 x 75
=2x75x10="150x% 10 = 1500 eggs.

9. G
4197.0 km Is approximatety 4000 km, and

113.4 km is approximately 100 km. It takes

4127.0 « 115.4hours to complete the test, which s
approximately 4000 + 100 = 40 hours.

The only close option is 37.0 hours.

10. £65.00

Each litre covers 10 m?, so Fete needs to buy

230 - 10 = 23 litres of paint. Paint comes in tins of

5 litres. 4 x 5 = 20, 50 4 tinsisn't enough paint.

5 x 5= 25, which is enough, so Pete needs to buy 5 tins.
This costs 5 x 13 = £65 (you can use partitioning here).

)t E
192 breaks into 180 + 12. Each room has a ceiling with

area 192 +3=180+3+12+3=60+4 =64 m".
8 x & = B4, s0 the length of each side of the roomis &m.

12, 108 minutes
Replace n in the formula with 9:
IO +3)=9(12) =9 x 12 = 108 minutes.

Test 25 — pages 83-85

1. £4.02
2 x 49 = 98p. £5 s the same as S00p,
s0 500 ~ 98 = 402p, which is the same as £4.02.

23 C
A square-based pyramid has five faces (one square base
and four triangle sides). So if 2 faces are painted red

then © - 2 = 3 faces are green.

3. A

Convert all the measurements to the same unit

— you can use mm here. 7.7 em =77 mm,

0,05 m=50mm,and 0.1 m= 100 mm.

So in order from shortest to longest they are:

28 mm, 49 mm, 50 mm, 77 mm, 100 mun. Infourth
position Is 77 min, which is 7.7 cm.

MWXPDE1

4. 7.2 cm
The longest leaf is 100

mm ang
28 mm S0 the difference i 100% test g
whlchlsbhcﬁal‘ncas?Zcm -25'72"‘%
5‘ c
‘Blue' is shown with 5 i
which Is a quarter of 3 g}:':nglc.
6. 8
1Gis halfof 32 S0 half of

y all Wors

socks. As /4 of pupile wWore b;l’llpﬂs K o White
for all the other colours, Veof 320;ck5' Fhat "a"es 1

5
TG 32‘4’8"%:
95% of seats are taken, e 100-g
530015 5%, 80 3300 x 2 - 5= 5% are

6600 x 1O=660()Oseatsls1oos;ats‘s1°xand

8. 4
11 boxes weigh 800 'x 11

q =580
Shg cantcarrya 12th boyx, aswgg‘ which '5561;9
weight go over her maximum of S kgWill Make ;
can carry 11 boxes, so after = tripe :};on %Hp%

have
MOved

2N 1.92 m?
8x12=96. 5008 x 12
- =9,
So the area of onerug is 0.9 n?z and 0.8 1.'2:096
52 x0.96=1.92 m= 1

10. B
1 s

/60t 481648+ 8=6,50%, ot 48 153
people play violin. '/ of 48 s 48+ 6~
clarinet. Sointotal 18 +6=2 =2} Flcp[ay
clarinet. S0 48~ 26 =22 peo

11. 30 hours, 0 minutes
Everybody except the percussio
nist ;
30 minutes. 25% of the orchestrg :rzracus::‘o,.o ?
which'is 48+ 4 =12 people. S0 48 - 1??% o,
;?ractuse for 30 minutes each, which isa t;;alape"i"e
1& hours. The 12 percussionists Pf‘actfsefm-‘fns

each, which is a total of 12 hours = ether
practise for 18 + 12 = 30 houre, - 9o0her they

A2e 104

Going forward in the sequence, the difference
between the numbers increases by . 5o goi
backwards, the difference is 1 less at: each &
step. The difference between 137 and 1 20is
137 - 120 =17. So the number before will be
16 less than 120, whichis 120-16= 1 04.

Puzzles 10 — page 86

This is a Fold Up!
The wodge of folded paperis 19.2 mm thick.
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s »
Anci?“‘ Rgoi,kwill be 0 9 — it's the sum of the top two
prom
The b0

numbs r‘f.rock could be:

pnotfe

fest 26 — PABES Bée

S
. g:g) the right of the hundredths columniis 5,
The num

ped toround the hundredths up. Rounding the
w:j;‘:ths up means 0.2952 is rounded up to 0.300.
hu

2. 8

These are the lines of symmetry:

C
:F;]'rst convert the length and width of the room to metres
by dividing each of themby 100. S0 400 + 100 = 4 and
250 + 100 = 3.5. This means the area of the room is
4x35=14m>

. A
:herc are 3 sides numbered with a multiple of 6 (6, 12
and 18) and 10 sides numbered with an odd number.
5o the ratio of 'multiples of &' to 'odd numbers'is 3. 10.
5% E
The distance between the first two posts is
14 "1=%4-%/4=3/,. This means the fifth post
wilbe 2%/, + %/, metres from the end of the garden.
Spit*/4into /4 + 1/, to do this addition:
25+ o=Band B+ 1/, = 3%,
Nowyou canadd %/, 10 3"/, by adding 1/, and then 1/,
3o+ Vy=tand 4+ /=4,
6. 1

The most common core is the one with the highest
frequency. This g 1 (with a frequency of 5).
7. 3g°

?)zge 'Were 20 spins, s0 each spinis represented by
*20= 18" The least commion score has a

freg,
!:qvlency of 2 (meaning it was spun 2 times), so it would
"ePresented by2x 18°= 3¢°.

#30 =300 minutes,
=3x30_0=300+ 10=30. S0 30% of 300
300 - 9(; 90. This means the firm will take

ftuwre, 510 10 minutes to make an ornament in the
Minutes = 2 hours 30 minutes.

MWXPDE1
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ang|
;o- v 2) 44+ 144<360 14, 1iis~nzxggo ’
- 288 =720 (You can uge partltioniné)so
11. 140 cm

12. A

Multiply 15 by the numbe

rof hours (),
call-out charge of £30. ( ). and then add the

This means C= 154 20.

Test 27 — pages 90-92
1. B

:/2 split into & pieces means each piece will be
/2+6="/1,0f awhole pizza.

2. 186kg

278-100=178. 100-92 = 8, 50 you've subtracted
& too many. S0 add & back on,giving 178 + 8 = 186 kg.

3. 4.2 m

1%of4m=4cm S05%0f4m=5 x4=20cm
=0.2m. Sothe bamboo plantis 4 + 0.2 = 4.2 mtall

4. 10 cm?

The top edge of the bladeis 7 - 4 = 3 cmlong.
Divide the blade into a rectangle and a triangle.
The area of the rectangle = 2 x 3 = 6 cm?.

The area of the triangle = '/, x 4 x 2 = 4 cm?.
So the total area=6 +4 = 10 cm2.

5; 12m

Use the sides opposite the 27° angle to find how much
larger the second triangle is. 6 + 2 = 3, so all the second
triangle's sides will be 3 times larger. d=4x3=12m.

6. E

: 4
1/, can be written as %/ and 2/, can be written as /.
7
So 1/2 +2/5=5/6+4/6= /6' ;
1=% 50 7/ is the same as 1 /¢,

7. A

Add the clockwise angl
ones. Aquarterofa t:; (
S0 a single turn of 20° clockwise wo

its new position.

es and subtract the anticlockowlsc
rmis 90°. 60 -920 + 50=? :
uld move the dialto
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8. D

35 650 s approximatety 36 000. In 1 minute,
the epace probe will travel 36 000 + 60 = 600 km.
In 1 second, the space probe will travel
G000 + 60 = 10 km. This is the same as

10 x 1000 = 10 000 m.

9. 7 mm
The highest depthis 12 mm and the lowest is 5 mm.
So the difference s 12 - 5 =7 mm.

10. B

Look for the hour when the graph moves up or down by
the greatest amount. Between 05:00 and 06:00, the
depth increased by 4 mm. Thisis a bigger change than in
any other hour

11. 720°
Whenn=06.thenS=180x(6-2)=180x4
=100 x4 +80x 4 =400 + 320 =720".

12. B

n =6, 50 the angles in the shape add up to

180 x (6 - 2) = 720°. Eachangle in a regular polygon
isthe same, sox = 720 « 6 = 120° (you can use
partitioning here).

Test 28 — pages 93-95

ds 20%
/s is the same as ““/4 0. This is the same as 20%.

45 B

Moving 1 unit west means 1 unit to the left on the grid.
So its new x-coordinate is 3. Moving 2 units south
means 2 units down on the grid. So its new y-coordinate
is 2. This means the new coordinates are (3, 2).

3% B
5cminmmis 5 x 10 =50 mm. The thickness of a single
sheet of paper =50+ 500=5+50=1 = 10=0.1 mm.

4, 8.918 s

Two hundredths of a second is 0.02 s. Add this to

8 898 — you can use the column method here:
5.8698

+0.020

8.918
1

By C

There are 2 multiples of 3 (3 and 6) and 1 multiple of 5
(5 itself). Intotal, thisis 2 + 1 = 3 sides. There are &
sides altogether, 5o as a fraction this gives /s or /5.

6. 60

& of the 2 cm containers will fit along the 12 cm edge of
the box, 5 containers will fit along the 10 cm edge, and 2
containers will fit along the 4 cmedge. So in total,

6 x 5 x 2 = 60 containers will fit: In the box.

MWXPDE1

18

4 3

Use partitioning. 2435 « 2400
2400 can be divided by 8, 5,

4xe-3z.wm.mammmm

8. 40 m
The garden has 5 sides, and each

side |
sothem\awroftkngm-denlssug
9 110 m?
Ihcareaofthctﬂangleohownlncho
/o%xBx55=22m? Tharcamsofthm 5

5othcareaofthcwholegardcnls5x22. 1“1‘;’%
10. E vy

The total of Amelie's scores is 1 +2

=15, Dividethlsbythenumberofgg‘:,::?*‘t*“
themean 6=3x2 and 15+ 3 =5, 5 = 6) to fing
15+6=25. VtRx25.
11. A

The two parallelograms you can form are shown
T

Em .
-40:‘ :

s

-

“u
- - 2

.,
e
-

- N @ 3

P
-t
,ﬂ,‘ 9
Lo
N
-
--"-'
W

-
&
v,

-5 ~3 =2 4

N

¥
.
’
3
4
.

*

S

S

o
o g

So the points that can be used as
(3, -3) and (-5, -3).

12. 25%

25%0f8i52.50 75% 0f Bis 3x 2 =6, 50 i

© green sweets to Aalia, which means thacAc;::W =
G +6 = 12 green sweets. 20%0f5 s 1.s’oCathM hs
1 red sweet to Aalia, which means that Azliz nowhas
3+ 1 =4redsweets. SoAalia has atotalof 12 + 4

= 16 sweets, and 4 of these are red. Thisis /.o
; 5
sweets, or 25%. e

i
I
Puzzles 11 — page 96 l
Testing Times |
If the test hasri't been set by the end of Thursday, then |
the students will know it's going to be on Friday... sothe

test can't be on Friday (as the students will know the
evening before). i

The students know that the test can't beon Friday, so if
the test hasn't been set: by the end of Wednesday. then
the students will know that it must be on Thursday.. so
the test can't then be on Thursday either. Carryingon
like this means the teacher can never set the test.



gtirring Things Up .

They're the same. Both glasses contain the same .
amount of liquid as they did at. the start, and there's
the same amount of ink and water in total as there was
pefore the pouring started. S0 there must be the same
amount of inkin glass 2 as there is water in glass 1.

Test 29 — pages 97-99

1. £6.60

10% of £5.50 is 55p, 50 20%of £56501s

2 x55p=£1.10. This means the selling price of the
toyis £5.50+£1.10= £6.60.

. C
5.575 % 1.84 is the same as 2375 x 184 except
there are five digits after the decimal points. Taking
43%7 000 and moving the decimal point five places to
the left gives 4.37.

3. 34cm’

The area of one faceis /o x 2 x 1.7 = 1.7 cm?.

There are 20 faces, so the total area of these faces is
20x1.7=2x10%x1.7=2x17 =34 cm?

4. C

Five of the cards show a multiple of 3 (21, 24,27, 30
and 33). There are 10 cards altogether, so the fraction
showing multiples of 3 is G

5. 320 cm?

The volume of one block is 4 x 4 x 4 = 16 x 4 = 64 cm?,
So the volume of 5 blocks is 5 x 64 = 320 cm?® (you can
use partitioning).

6. 9

Gemma's score is 5. Sarah’s score is 4. Find the
difference in stages: from -4 to O is a difference of
4, and then from O to 5 is a difference of 5. So the
difference between 5 and -4 =4+ 5= 9.

7. E
Adding up all the ratings gives 5-1+0+5-4 =5.
There were five ratings given, so the meanis 5 + 5 = 1.

8. 3 hours 18 minutes

3 hours 40 minutes = (3 x 60) + 40 = 1860 + 40
=220 minutes. 10% of 220is 22. So Stuart's new
best time is 22 minutes less than 3 hours 40 minutes,
whichis 3 hours 18 minutes.

9. C
The third person takes '/, of '/, of the whole cake,
whichis '/, + 2 = /4. The fourth person takes '/, of

1 5 F
1/5. whichis /g + 2 = /4. The fifth person takes '/, of
/16 whichis V/,16+ 2 = /5,

MWXPDFE1
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10. 88

For every 1 marble that Andy receives, Beatrice will
receive 4. S0 Andy receives 1 out. of every5 =/, of
the marbles. '/, of 440 = 440 . 5=86 marble:) (yo
can use partitioning here). L

11. D
It looks like the number of accidents fell after the
new roundabout was built, but. the numper actually

increased. The graphis misleading because bigger
numbers appear lower down on the vertical scale.

12. A

The customer has used 200 units and was charged
£25,50n =200 and C = 25, Check to see which
formula these numbers work in. If 5 = 200, then
option A gives C = "/1p0x 200 + 23 = 200 = 100 +
23 =2 + 23 = 25, which is the correct value for C.

Test 30 — pages 100-102
1. 0.75 cm

40 books are 30 cm wide, so each book is
30+40=3+4=°/,=0.75 cm wide.

2; 2

There are 2 months when Adi's balance is less than
£2000 (February and June).

3. £3500
The highest balance is £5000 and the lowest is
£1500. The difference is 5000 ~ 1500 = £3500.

4. B

It's an isosceles triangle, so two angles are the same.
Angle X is obtuse, so the other acute angle must be 35°.
SoangleX=1860-35-35= 110",

5. £3.90

2 packets of cheese cost 2 x 1.10 = £2.20 (you can
use partitioning here). So the total cost is:

1.20 + 2.20 + 50p = £3.90 (you can use the column
method here).

6. E

The factors of 12 on the spinner are 1, 2.3, 4, 06and
12. 50 there are 6 factors of 12. This means the 1
fraction of sides showing a factorof 12 is /1000 /s

7. 720 m |
Eachlapis 75 + 45 + 75 + 45 =240m. So 3lapsis
3 x 240 = 720 m (use partitioning).

8. E
Each Iapi575 +45+75+45= 240m,and 10km=

10 x 1000 = 10 000 m. 4 laps is 4 x 240 =960 m.
This means 40 laps will be 10 x 9600 = 96‘OO.m.

S0 41 laps is 9600 + 240 = 9840 m, whichis less
than 10 km. 42 laps is 9840 + 240=10080m,
which is more than 10 000 m. Sp Sean heeds to run

42 laps.
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S 7

The number of sheep in each group needs to be a factor
of both 21 and 35. The factors of 21 are 1, 3, 7 and
21. Of these, only 1 and 7 are factors of 35. So the
largest. number of sheep that can be in each group is 7.

10. 64
fn=20then3n+4=(3x20)+4=60+4 =04
11. C

Try out one of the values (start with the easiest):
Hn=251then3n+4=(3%x25)+4=75+4=79.
This is less than &0, but is very close to it.
Soifn=206,then3n+4=(3x26)+4=75+4=82.
This is more than 80, son = 26.

12. E

The square’s sides are as long as two long sides of one of
the triangles. So the sides are 2 x 5 = 10 cm long.

So the total area of the square is 10 x 10 = 100 cm?.
The area of each white triangleis '/, x 3 x 5 = 7.5 cm?.
The total area of the white triangles is

4 x 7.5 =30 cm?®. So the blue part of the tile

has an area of 100 - 30 = 70 cm?.

Test 31 — pages 103-105
1. c

The least popular option is the smallest segment on the
pie chart — cranberry juice.

2. 640
There are 80 x & petals intotal. & x & = 64,
50 80 x & = 640 petals.

3. 24
80+ (53+7)=80+10=8,50thereare&x 3 =24
purple dahlias.

4, 64
10% 0of 80 is 8,50 20%is & x 2 = 16. So there are
&0 - 16 = 64 dahlias left.

5. C

Putting the fractions in order gives
V5, /2, %5 /8, 1"/, So Tahiris fourth on the list.

6. B
17/ is the largest amount of pizza and "/ is the
smallest, so the differenceis 1/~ /5= 1.

y 21
Each minute the printer prints 24 + & = 3 pages.
©3 + 3 = 271 minutes (use partitioning here).

8. C

The factorsof 42 are 1,2, 3,5,6,7,14,21,42.

Of these, 7 is the largest prime number. So each player
gets 42 + 7 =6 cards.

9. £3.75
3 lunches cost £9.75, 50 1 lunch cos
£3.25 (you can use partitionin .

‘ g here). 5lunches coct.
5x325=5%x3+5x025=15, 125 =2:%C§gta
s0 Fhillp recelves 20 - 16.25 = £3.75in change T

10. 37°

Angles in a triangle add up to 180", The first two
angles add up to 90 + 53 = 143 So the angle between
Stages One and Three is 180 - 1 43 = 37°

11. 8

Eachlapis 5+ 3+ 4 =12 mlong, s0 the robot,
uses 12 units of energy each lap. 8x 12 = 9,
0 the robot would use 96 units of energy for 8
laps and 9 x 12 = 108 units for 9 laps, 50 8 laps
is the maximum number of laps it can complete.

12, €

Onthediagram 1cm=10m,s03cm=230m.5 cm
=50mand 1.5 cm= 15 m. Split the field into two
rectangles to find the area: 30 x 30 = 900 m? and
15 x (50 - 30) = 15 x 20 = 300 m?, So the total
areais 900 + 300 = 1200 m?,

159,75 4 A=

Puzzles 12 — page 106

Ridiculous Receipts
The eggs cost £2.15.

Seeing Shapes
There are 36 triangles and 671 quadrilaterals.
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